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�� B) �
 ����

� �%LM��� ��� ����
 	�� A �� B ����L
� ��� �����L
N�� ��N����*

�L
���)

A = αnX
n + αn−1X

n−1 + · · ·+ α0, avec αn ̸= 0

B = βpX
p + βp−1X

p−1 + · · ·+ β0, avec βp ̸= 0

���� �
 ��LN� A L� ������
��) �
 ������L
� ��� ����� ���� ��� ������ 	L

�L
��)

�� �
 ��LN� B L� ��������+

• A� ���	��� ���	� �� 
�����
� ���

αn

βp
Xn−p

+

• D
 �N��� �� ����
 	�

αn

βp
Xn−pB �
 ������� �� ����
 	� A) �� �
 �� ������L��

�� A 7 �
 �M���
� L�
�� A1+

• D
 ������ N�� ����L���
� ���
�%� �%�M��
���
 �L
� ������
�� �%�
 ����
 	�
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� �
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� ��L�����

�� �� 
�����
�+

2 < 2 6 8 5 2

2��?���� �= �������
 ����=
� ��� �����=
?�� ��?�����=
��� ��������


��?�����

� �� . X4 + 1 �=� X2 +X + 1.

K��N� �L �������
 ��N�����

� �� X4 + 1 �L� X2 +X + 1 6

X4 + 1 X2 +X + 1
−(X4 +X3 +X2) X2 −X

−X3 −X2 + 1
−( −X3 −X2 −X)

X + 1

A� 
�����
� ��� Q = X2 −X �� �� ����� ��� R = X + 1+

2���?�?��

<"�N���� �L �������
 ����L
� ��� �����L
N�� ��N�����L
��� &�������
 ��N�����

�'

�� 6

-+ A = X4 −X3 + 2X2 +X − 1 �L� B = X2 +X − 17

.+ A = X5 +X + 1 �L� B = X3 −X2 + 1+
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 	� P ) �
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�� P̃ (a) = 0+

E��� 	�
���� 
�� a ��� �LN�
� �%����� k �%�
 ����
 	� P ) �
 	�
��� 
��

P (a) = P ′(a) = · · · = P (k−1)(a) = 0 et P (k)(a) ̸= 0

2 < 2 6 8 5 2

-+ 6�
���� 
�� & ��� �
� �=?�
� �� ����
�	� P = X2 − 5X + 6#

<
 �"�� 6 P̃ (2) = 22 − 5 · 2 + 6 = 4− 10 + 6 = 0 +

.+ :��� P = X6 + 3X5 − 2X4 − 16X3 − 21X2 − 11X − 2# 6�
���� 
��

(−1) ��� �
� �=?�
� �� ����
�	� P ! �� ������� ��
 ����� ��

	�������?���#

D
 L P̃ (−1) = 1− 3− 2 + 16− 21 + 11− 2 = 0 7 ��
N −1 ��� �
� �LN�
�

�� P + :L�N���
� P ′
) P” �� P (3)

+

P ′ = 6X5 + 15X4 − 8X3 − 48X2 − 42X − 11,

P” = 30X4 + 60X3 − 24X2 − 96X − 42,

P (3) = 120X3 + 180X2 − 48X − 96

�%�! P̃ ′(−1) = −6 + 15 + 8− 48 + 42− 11 = 0)

P̃”(−1) = 30−60−24+96−42 = 0 �� P̃ (3)(−1) = −120+180+48−96 ̸= 0 7

��
N −1 ��� �
� �LN�
� �� P �%����� /+

2���?�?��

-+ F��� ��� �%����� �� 	�������N��� �� �L �LN�
� −1 �L
� ��� ����
 	�� ����*

L
�� 6

&L' P = X7 + 3X6 + 3X5 +X4 −X3 − 3X2 − 3X − 1+

&M' Q = X5 + 7X4 + 19X3 + 25X2 + 16X + 4 8

.+ I������ ��� �LN�
�� �� ����
 	� X5 − 1+

/+ I������ �
� N�
�����
 
�N���L��� �� ��$�L
�� ��� ��� ����� a) b �� c ����


�� �� ����
 	� X6 − 5X4 + aX2 + bX + c L�� �
� �LN�
� �%����� 0+

F����� ��� L���� N���� �LN�
� 8
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�� 8
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1.1 �� Comment effectuer une division euclidienne 
de polynômes ?
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� �� X4 + 1 �L� X2 +X + 1 6

X4 + 1 X2 +X + 1
−(X4 +X3 +X2) X2 −X
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-+ A = X4 −X3 + 2X2 +X − 1 �L� B = X2 +X − 17

.+ A = X5 +X + 1 �L� B = X3 −X2 + 1+
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P (a) = P ′(a) = · · · = P (k−1)(a) = 0 et P (k)(a) ̸= 0

2 < 2 6 8 5 2

-+ 6�
���� 
�� & ��� �
� �=?�
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�	� P = X2 − 5X + 6#

<
 �"�� 6 P̃ (2) = 22 − 5 · 2 + 6 = 4− 10 + 6 = 0 +

.+ :��� P = X6 + 3X5 − 2X4 − 16X3 − 21X2 − 11X − 2# 6�
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D
 L P̃ (−1) = 1− 3− 2 + 16− 21 + 11− 2 = 0 7 ��
N −1 ��� �
� �LN�
�

�� P + :L�N���
� P ′
) P” �� P (3)

+

P ′ = 6X5 + 15X4 − 8X3 − 48X2 − 42X − 11,

P” = 30X4 + 60X3 − 24X2 − 96X − 42,

P (3) = 120X3 + 180X2 − 48X − 96

�%�! P̃ ′(−1) = −6 + 15 + 8− 48 + 42− 11 = 0)

P̃”(−1) = 30−60−24+96−42 = 0 �� P̃ (3)(−1) = −120+180+48−96 ̸= 0 7
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� �� P �%����� /+
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&L' P = X7 + 3X6 + 3X5 +X4 −X3 − 3X2 − 3X − 1+

&M' Q = X5 + 7X4 + 19X3 + 25X2 + 16X + 4 8

.+ I������ ��� �LN�
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 	� X5 − 1+

/+ I������ �
� N�
�����
 
�N���L��� �� ��$�L
�� ��� ��� ����� a) b �� c ����
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1.2 �� Comment montrer qu’un nombre est racine 
d’un polynôme ?
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�� �� ����� �� �L �������
 ��N�����

� �� A �L� B ��� 
��+

2 < 2 6 8 5 2

6�
���� 
�� �� ����
�	�

P = X6 + 3X5 − 2X4 − 16X3 − 21X2 − 11X − 2

��� ������>�� �=� X2 − 2X − 1#

<
 �"�N��L
� �L �������
 ��N�����

� �� P �L� X2 − 2X − 1) �
 ������ �
 �����


��) �%�! P ��� ������M�� �L� X2 − 2X − 1+

2���?�?��

-+ B�
���� 
�� �� ����
 	�

P = X7 −X6 − 3X5 + 6X4 − 7X3 + 8X2 − 5X + 1

��� ������M�� �L� �� ����
 	� Q = X2 − 2X − 1+

.+ B�
���� 
�� �� ����
 	� P = X4−5X2+6 ��� ������M�� �L� �� ����
 	�

Q = X2 − 2+

/+ B�
���� 
�� �� ����
 	� P = 5X4−13X3+11X2+17X−12 ��� ������M��

�L� �� ����
 	� Q = X2 − 3X + 4+

0+ B�
���� 
�� �� ����
 	�

P = X9 +X8 +X6 +X5 + 2X4 − 2X3 +X2 + 1

��� ������M�� �L� �� ����
 	� Q = X4 −X + 1+

1+ B�
���� 
�� �� ����
 	�

P = −3X7 + 5X5 − 2X4 −X3 +X2 + 1

��� ������M�� �L� �� ����
 	� Q = X3 −X + 1+

2+ B�
���� 
�� �� ����
 	�

P = −2X8 +X7 + 4X6 +X5 − 6X4 −X3 −X2 + 9X − 3

��� ������M�� �L� �� ����
 	� Q = 2X3 −X2 − 3+

-,
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E��� 	�
���� 
�%�
 ����
 	� A ��� ������M�� �L� �
 ����
 	� B) �
 	�
���


�� ������ ��� �LN�
�� #�	������ �� B ��
� ��� �LN�
�� �� A L��N L� 	��
� ��

	�	� ����� �� 	�������N���+

2 < 2 6 8 5 2

6�
���� 
�� �� ����
�	� P = (X−3)20+(X−2)10−1 ��� ������>�� �=�

�� ����
�	� Q = X2 − 5X + 6#

:�		� 2 �� 3 ��
� ��� �LN�
�� �� Q �� 
�� P̃ (3) = P̃ (2) = 0) ��
N P ��� ������M��

�L� Q+

2���?�?��

-+ H��� �� ����
 	�

P = 3X6 −X5 −X4 − 4X3 +X2 +X + 1.

&L' B�
���� 
�� P ��� ������M�� �L� X2 +X + 1 7

&M' B�
���� 
�� - ��� �LN�
� ���M�� �� P 7

&N' G������� �%�
�L���
 P̃ (x) = 0+

.+ H��� �� ����
 	�

P = X7 − 7X6 + 20X5 − 32X4 + 35X3 − 29X2 + 16X − 4.

&L' B�
���� 
�� P ��� ������M�� �L� X2 + 1 7

&M' B�
���� 
�� - ��� �LN�
� ������ �� P 7

&N' G������� �%�
�L���
 P̃ (x) = 0+

/+ B�
���� 
�� �L
� Z[X]) �� ����
 	� P = (X − 2)2n + (X − 1)n − 1 ���

������M�� �L� �� ����
 	� Q = X2 − 3X + 2+

F��� ��� �� 
�����
� 8

0+ B�
���� 
�� �L
� Z[X]) �� ����
 	� P = X3−X2−14X+24 ��� ������M��

�L� �� ����
 	� Q = X2 − 5X + 6+

F��� ��� �� 
�����
� 8

--

1.3 � Comment montrer qu’un polynôme est divisible 
par un autre polynôme en utilisant la division 
euclidienne ?
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 ��N�����

� �� A �L� B ��� 
��+

2 < 2 6 8 5 2

6�
���� 
�� �� ����
�	�

P = X6 + 3X5 − 2X4 − 16X3 − 21X2 − 11X − 2

��� ������>�� �=� X2 − 2X − 1#

<
 �"�N��L
� �L �������
 ��N�����

� �� P �L� X2 − 2X − 1) �
 ������ �
 �����


��) �%�! P ��� ������M�� �L� X2 − 2X − 1+

2���?�?��

-+ B�
���� 
�� �� ����
 	�

P = X7 −X6 − 3X5 + 6X4 − 7X3 + 8X2 − 5X + 1

��� ������M�� �L� �� ����
 	� Q = X2 − 2X − 1+

.+ B�
���� 
�� �� ����
 	� P = X4−5X2+6 ��� ������M�� �L� �� ����
 	�

Q = X2 − 2+

/+ B�
���� 
�� �� ����
 	� P = 5X4−13X3+11X2+17X−12 ��� ������M��

�L� �� ����
 	� Q = X2 − 3X + 4+

0+ B�
���� 
�� �� ����
 	�

P = X9 +X8 +X6 +X5 + 2X4 − 2X3 +X2 + 1

��� ������M�� �L� �� ����
 	� Q = X4 −X + 1+

1+ B�
���� 
�� �� ����
 	�

P = −3X7 + 5X5 − 2X4 −X3 +X2 + 1

��� ������M�� �L� �� ����
 	� Q = X3 −X + 1+

2+ B�
���� 
�� �� ����
 	�

P = −2X8 +X7 + 4X6 +X5 − 6X4 −X3 −X2 + 9X − 3

��� ������M�� �L� �� ����
 	� Q = 2X3 −X2 − 3+

-,
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	�	� ����� �� 	�������N���+

2 < 2 6 8 5 2

6�
���� 
�� �� ����
�	� P = (X−3)20+(X−2)10−1 ��� ������>�� �=�

�� ����
�	� Q = X2 − 5X + 6#

:�		� 2 �� 3 ��
� ��� �LN�
�� �� Q �� 
�� P̃ (3) = P̃ (2) = 0) ��
N P ��� ������M��

�L� Q+

2���?�?��

-+ H��� �� ����
 	�

P = 3X6 −X5 −X4 − 4X3 +X2 +X + 1.

&L' B�
���� 
�� P ��� ������M�� �L� X2 +X + 1 7

&M' B�
���� 
�� - ��� �LN�
� ���M�� �� P 7

&N' G������� �%�
�L���
 P̃ (x) = 0+

.+ H��� �� ����
 	�

P = X7 − 7X6 + 20X5 − 32X4 + 35X3 − 29X2 + 16X − 4.

&L' B�
���� 
�� P ��� ������M�� �L� X2 + 1 7

&M' B�
���� 
�� - ��� �LN�
� ������ �� P 7

&N' G������� �%�
�L���
 P̃ (x) = 0+

/+ B�
���� 
�� �L
� Z[X]) �� ����
 	� P = (X − 2)2n + (X − 1)n − 1 ���

������M�� �L� �� ����
 	� Q = X2 − 3X + 2+

F��� ��� �� 
�����
� 8

0+ B�
���� 
�� �L
� Z[X]) �� ����
 	� P = X3−X2−14X+24 ��� ������M��

�L� �� ����
 	� Q = X2 − 5X + 6+

F��� ��� �� 
�����
� 8

--

1.4 � Comment montrer qu’un polynôme est divisible 
par un autre polynôme en utilisant les racines ?
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���� n+ 1 
�	M���) �� ���� ����� ��� �
������� �� ��L� � n+

2 < 2 6 8 5 2

:���
� ��� ����
�	��

P = (X − 1)[(1 +X)(1 +X2)(1 +X22) �� Q = (X8 − 1)+

6�
���� 
�� P = Q#

:�		� deg(P ) = deg(Q) = 8 7 �� ��$� ��
N �� ����#�� 
�� P̃ (r) = Q̃(r) ����
5 �L�����+ D
 ����#� �LN���	�
� 
�� P̃ (0) = Q̃(0)) P̃ (1) = Q̃(1)) P̃ (2) = Q̃(2))
P̃ (3) = Q̃(3)) P̃ (i) = Q̃(i))

EL� L�������) P �� Q ��
� �L���) �%�!6

P̃ (−1) = Q̃(−1)) P̃ (−i) = Q̃(−i)) P̃ (−2) = Q̃(−2)) P̃ (−3) = Q̃(−3))

�� �L� ����� P = Q+

2���?�?��

-+ B�
���� 
�� ��� ����
 	�� ����L
�� ��
� ��L�� 6

P = (X + 1)2(X − 1)3(X + 2)

��

Q = X6 +X5 − 4X4 − 2X3 + 5X2 +X − 2.

.+ B�
���� 
�� ��� ����
 	�� ����L
�� ��
� ��L�� 6

P = (X + 1)2(X + 2)3

��

Q = X5 + 8X4 + 25X3 + 38X2 + 28X + 8.

/+ B�
���� 
�� ��� ����
 	�� ����L
�� ��
� ��L�� 6

P = (X − 1)(X − 2)(X − 3) et Q = X3 − 6X2 + 11X − 6.

0+ B�
���� 
�� ��� ����
 	�� ����L
�� ��
� ��L�� 6

P = (X2 + 1)(X − 2)(X2 − 1)

��

Q = X5 − 2X4 −X + 2.
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&�L���) �	�L���) M�NL���+ + + '+

2 < 2 6 8 5 2

-+ 3=?������� �=
� R[X] �� ����
�	� X3 −X2 − 14X + 24#

D
 ���� P = X3 −X2 − 14X + 24 7 �
 ��	L�
�� 
�� P̃ (2) = 0) �
 �"�N*

��L
� �L �������
 ��N�����

� �� P �L� (X − 2)) �
 �M���
�

P = (X − 2)(X2 +X − 12).

D
 N���N�� �
����� ��� �LN�
�� �� (X2 +X − 12) 7 �
 ������ L����

(X2 +X − 12) = (X − 3)(X + 4)

�� �L� ����� P = (X − 2)(X − 3)(X + 4)+

.+ 3=?������� �=
� R[X] �� ����
�	� X4 − 5X2 + 6#

D
 ���� Y = X2
7 �
 L �%��L���� X4 − 5X2 + 6 = Y 2 − 5Y + 6+

D�) Y 2 − 5Y + 6 = (Y − 2)(Y − 3)) �%�!

X4−5X2+6 = (X2−2)(X2−3) = (X−
√
2)(X+

√
2)(X−

√
3)(X+

√
3).

/+ 3=?������� �=
� R[X] �� ����
�	�

P = X4 + 4X3 + 8X2 + 4X + 1.

;L
� P ��� N��$N��
�� �
������L
�� ��� �����	�� ��
� ��L�� &����
 	�

��N����
��'+ D
 ������ N�� ���	��) �%�!

P = X2

[
X2 +

1

X2
+ 4

(
X +

1

X

)
+ 8

]

<
 ���L
� Y = X +
1

X
) �
 L P = X2(Y 2 + 4Y + 6)+

D
 NL�N��� �
����� ��� �LN�
�� �� ����
 	� �
 Y ) �%�! ��� �LN�
�� �� P +

<
 �������L
� �
#
 ��� �LN�
�� N�
�������) �
 �M���
� 6

P = [ X2 + (2 +
√
2)X + 3 + 2

√
2 ] · [ X2 + (2−

√
2)X + 3− 2

√
2 ].

2���?�?��

=LN������� �L
� R[X] ��� ����
 	�� ����L
��

P1 = X3 + 2X2 + 2X + 1 ; P2 = X4 + 2X2 − 3 ; P3 = X4 +X2 + 1.

-/

1.5 � Comment montrer l’égalité de deux polynômes ?
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2 < 2 6 8 5 2
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� ��� ����
�	��

P = (X − 1)[(1 +X)(1 +X2)(1 +X22) �� Q = (X8 − 1)+

6�
���� 
�� P = Q#

:�		� deg(P ) = deg(Q) = 8 7 �� ��$� ��
N �� ����#�� 
�� P̃ (r) = Q̃(r) ����
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�� P̃ (0) = Q̃(0)) P̃ (1) = Q̃(1)) P̃ (2) = Q̃(2))
P̃ (3) = Q̃(3)) P̃ (i) = Q̃(i))

EL� L�������) P �� Q ��
� �L���) �%�!6

P̃ (−1) = Q̃(−1)) P̃ (−i) = Q̃(−i)) P̃ (−2) = Q̃(−2)) P̃ (−3) = Q̃(−3))
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P = (X + 1)2(X − 1)3(X + 2)
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Q = X6 +X5 − 4X4 − 2X3 + 5X2 +X − 2.
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P = (X + 1)2(X + 2)3
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Q = X5 + 8X4 + 25X3 + 38X2 + 28X + 8.
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P = (X − 1)(X − 2)(X − 3) et Q = X3 − 6X2 + 11X − 6.
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P = (X2 + 1)(X − 2)(X2 − 1)
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2 < 2 6 8 5 2
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�	� X3 −X2 − 14X + 24#

D
 ���� P = X3 −X2 − 14X + 24 7 �
 ��	L�
�� 
�� P̃ (2) = 0) �
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� �� P �L� (X − 2)) �
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P = (X − 2)(X2 +X − 12).

D
 N���N�� �
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�� �� (X2 +X − 12) 7 �
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(X2 +X − 12) = (X − 3)(X + 4)

�� �L� ����� P = (X − 2)(X − 3)(X + 4)+

.+ 3=?������� �=
� R[X] �� ����
�	� X4 − 5X2 + 6#

D
 ���� Y = X2
7 �
 L �%��L���� X4 − 5X2 + 6 = Y 2 − 5Y + 6+

D�) Y 2 − 5Y + 6 = (Y − 2)(Y − 3)) �%�!

X4−5X2+6 = (X2−2)(X2−3) = (X−
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√
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√
3)(X+

√
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P = X2

[
X2 +

1
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+ 4
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1

X

)
+ 8

]
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1
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 L P = X2(Y 2 + 4Y + 6)+

D
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� 6

P = [ X2 + (2 +
√
2)X + 3 + 2

√
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√
2)X + 3− 2

√
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P1 = X3 + 2X2 + 2X + 1 ; P2 = X4 + 2X2 − 3 ; P3 = X4 +X2 + 1.

-/

1.6 � Comment factoriser un polynôme ?
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� �� P �L� Q+

<
 �L���N�����) �� deg(P ) < deg(Q) N���� �L���� �
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2 < 2 6 8 5 2
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F =
X5 − 2X4 + 3X − 5

X2 − 5X + 6
.
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 �"�N��� �L �������
 ��N�����

� �� P = X5 − 2X4 + 3X − 5

�L� Q = X2 − 5X + 6) �
 �M���
� P = (X3 + 3X2 + 9X + 27)Q+ 84X − 167)

��
N �L �L���� �
����� �� F ��� X3 + 3X2 + 9X + 27)

�%�! F = (X3 + 3X2 + 9X + 27) +
84X − 167

X2 − 5X + 6
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-+ F =
X7

X + 1
7

.+ G =
X5 + 2X + 1

X3 + 3X2 +X + 2
7

/+ H =
X4 + 1

X2 + 3X − 3
7

0+ I =
X5 + 3

5X2 −X + 2
7

1+ J =
X6 −X3 + 1

2X5 − 3X2 + 2
7

2+ K =
X7 − 2X5 + 6

X3 +X2 + 1
+
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.+ G =
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X3 −X
7

0+ I =
X2 + 1

X5 −X3
7

1+ J =
X3 +X

X4 −X2
+

-1

1.7 � Comment déterminer la partie entière d’une 
fraction rationnelle ?
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1.8 � Comment faire une décomposition en éléments 
simples d’une fraction rationnelle paire (resp. 
impaire) ?
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1.9 � Comment déterminer le coeffcient relatif à un 
pôle simple ?
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1.10 � Comment effectuer une division suivant les 
puissances croissantes de polynômes ?
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1.11 � Comment déterminer les coeffcients relatifs à un 
pôle multiple ?
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� �
 ��*

���L
� �� 
�	��L���� �L� �� ��
�	�
L���� ����L
� ��� �����L
N�� ��N�����L
���

&�������
 ��N�����

�'+ D
 �M���
� 6

X9 − 4X5 + 1 = (X + 1)
[
X(X2 + 1)(X + 1)2(X − 1)3

]
+ 2X7 − 4X5 − 2X3 +X + 1

AL �L���� �
����� ��� ��
N E = X + 1+ AL ��LN���
 F �%�N��� ���� �L ���	� 6

F = X + 1 +

k=3∑
k=1

αk

(X − 1)k
+

β

(X − i)
+

λ

(X + i)
+

δ

X
+

γ2
(X + 1)2

+
γ1

(X + 1)

:�
������
� �� � �� 1 �� ����
� Y = X − 1+ A�� N��$N��
�� α3, α2, α1 
�

����
��
� �
 �L�� 
�� ��� ���	�� �
 Y �� ����� �
������� � . &�L �������
 ��

�L��L
� � �%����� .'+ ?� ��$� ��
N �� ������� −2−11Y −4Y 2
�L� 8+24Y +30Y 2

� �%����� .+ D
 ������ α3 = −1

4
, α2 = −5

8
, α1 =

37

16
. B��������
� ��� ����

	�	M��� �L� X �� ��M������
� �L �L���� , �
 �M���
� δ = −1 7 	��������
�

��� ���� 	�	M��� �L� X − i �� ��M������
� �L �L���� i �
 �M���
� β =
2− i

8
7

	��������
� ��� ���� 	�	M��� �L� X + i �� ��M������
� �L �L���� −i �
 �M���
�

λ =
2 + i

8
7 	��������
� �
#
 ��� ���� 	�	M��� �L� (X + 1)2 �� ��M������
� �L

�L���� −1 �
 �M���
� γ2 =
1

4
+ E��� �M��
�� �� ���
��� N��$N��
�) �
 NL�N��� �L

��	��� 
�L
� x → ∞ �� x (F − E) (x)) �
 ������ 2 = α1 + β + λ+ δ+ γ1) �%�!

γ1 =
3

16
+ 9�
�� F �%�N��� ���� �L ���	�

F = X + 1+
−

1

4
(X − 1)3

+
−

5

8
(X − 1)2

+

37

16
(X − 1)

+

2 − i

8
(X − i)

+

2 + i

8
(X + i)

+
−1

X
+

1

4
(X + 1)2

+

3

16
(X + 1)

.

2���?�?��

H� �������� �L�� 6 -0/+

-5

1.12 � Comment faire une décomposition en éléments 
simples d’une fraction rationnelle ?
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�� �� RN
��
�*��� ��LM��� �L� N�	M�
L���
� ��
�L���� 8

&L' E1 �%�
��	M�� ��� ������ N�
�����
��� 7

&M' E2 �%�
��	M�� ��� ������ �������
��� 7

&N' E3 �%�
��	M�� ��� ������ M��
���+

./
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.+-1 :�		�
� 	�
���� �%�
��N������ �%�
� L����NL���
 ��
�L��� 8

.+-2 :�		�
� �����	�
�� �%�	L�� �%�
� L����NL���
 ��
�L��� 8

.+-3 :�		�
� �����	�
�� �� �L
� �%�
� L����NL���
 ��
�L��� 8

.+-4 :�		�
� 	�
���� 
�%�
� L����NL���
 ��
�L��� ��� �
 �
��	������	�) ���*

	������	�) L���	������	� 8

.+-5 :�		�
� 	�
���� 
�%�
� L����NL���
 ��
�L��� ��� �
 �����N���� 8

.+., :�		�
� 	�
���� 
�%�
� L����NL���
 ��
�L��� ��� �
� ��	����� 8

..

%"$ /�		�
� 	�
���� 
���
� �9���� ��� ��9:��

�9� ;�	:�
9���
 ��
�9��� -

E��� 	�
���� 
�%�
� �L���� F �%�
 K−���LN� ��N������ (E,+, ·) ��� ��LM�� �L�

N�	M�
L���
 ��
�L���) �
 	�
��� 
�� 6

���� ���� u, v ∈ F �� α ∈ K) u+ α · v ∈ F

2 < 2 6 8 5 2

:��� E = R3
	�
� �� �= ����?���� ?=
�
�
�� �����=?� ��?������ ��� R

�� ���� F =
{
(x, y, z) ∈ R3, x+ y = 0 et x− 3y + z = 0

}
#

6�
���
� 
�� F ��� ��=>�� �=� ?�	>�
=���
 ��
�=���#

H���
� u = (x, y, z)) v = (a, b, c) ��� ���	�
�� �� F ) �� ���� α ∈ R) �
 L 6

u+ α · v = (x, y, z) + (α · a, α · b, α · c)
= (x+ α · a, y + α · b, z + α · c)

D
 ���� x′ = x+ α · a, y′ = y + α · b et z′ = z + α · c) �
 L L���� 6

x′ + y′ = x+ y + α · (a+ b) = 0 + α · 0 = 0 car u, v ∈ F

��

x′ − 3y′ + z′ = (x+ α · a)− 3 · (y + α · b) + (z + α · c)
= (x− 3 · y + z) + α · (a− 3 · b+ ·c)
= 0 + 0 = 0 car u, v ∈ F

��
N u+ α · v ∈ F �� �L� ����� F ��� ��LM�� �L� N�	M�
L���
 ��
�L���+

2���?�?��

-+ ;L
� ��� �
��	M��� ����L
�� ��
�*��� ��LM��� �L� N�	M�
L���
� ��
�L��� 8

&L' E1 =
{
(x, y, z) ∈ R3, y + z = 1

}
7

&M' E2 =
{
(x, y, z) ∈ R3, x+ 2y + 3z = 0 et 2x− y − z = 0

}
7

&N' E3 =
{
(x, y) ∈ R2, |x| = 2 |y|

}
7

&�' E4 =
{
(x, y) ∈ R2, |x| ̸= 2 |y|

}
7

&�' E5 =
{
(x, y, z) ∈ R3, x+ 2y ≥ 0

}
+

.+ ;L
� �%���LN� ��N������

(
RN,+, ·

)
��� ������ 
�	���
���) ��� ����*�
��	M���

����L
�� �� RN
��
�*��� ��LM��� �L� N�	M�
L���
� ��
�L���� 8

&L' E1 �%�
��	M�� ��� ������ N�
�����
��� 7

&M' E2 �%�
��	M�� ��� ������ �������
��� 7

&N' E3 �%�
��	M�� ��� ������ M��
���+

./

2.1 � Comment montrer qu’une partie est stable par 
combinaison linéaire ?
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%"% /�		�
� 	�
���� 
���
� �9���� ��� �
��
!

���� �9� �
� �9	���� �� ��;����� -

H���
� (ai) �
� �L	���� �� ��N����� �%�
 K−���LN� ��N������ (E,+, ·) �� F �
�

�L���� �� E+

E��� 	�
���� 
�� F ��� �
��
���� �L� (ai)) �
 	�
��� 
�� 6

∀u ∈ F ) ∃ak1
, ak2

, · · ·, akn
) ∃λ1, λ2, · · ·, λn ∈ K ���� 
��

u = λ1 · ak1
+ λ2 · ak2

+ · · ·+ λn · akn

F�L
� F ��� �
��
���� �L� (ai)) �
 �N��� F = Vect {ai}+

2 < 2 6 8 5 2

:��� E = R[X] �����=?� ��?������ ��� ����
�	�� � ?���?��
�� ����� ��

���� (1, X,X(1−X)) �
� �=	���� �� ��?����� �� E# 7
 �����
� �=� F
���
��	>�� ��� ����
�	�� �� ����� �
������� �� ��=� � &#

6�
���
� 
�� F ��� �
��
��� �=� (1, X,X(1−X))#

H��� P ∈ F ) �� ������ L���� a, b, c ∈ R ���� 
�� P = aX2 + bX + c 7

N�		� P = c · 1 + (b + a) · X + (−a) · X(1 − X)) ��
N F ��� �
��
��� �L�

(1, X,X(1−X))+

2���?�?��

-+ A%�
��	M�� E = R3
��L
� 	�
� �� �L ����N���� NL
�
�
�� �%���LN� ��N*

������ ��� R+

&L' A� ��N���� u⃗ = (11, 10,−21) L��L����
�*�� L� ����*���LN� ��N������

�
��
��� �L� x⃗ = (−1, 0, 2) �� y⃗ = (−1, 4, 3) 8

&M' ;����	�
�� m ���� 
�� x⃗ = (m, 2,−3) L��L����

� L� ����*���LN�

��N������ �
��
��� �L� a⃗ = (1, 2, 3) �� b⃗ = (−1, 0, 2) 7

&N' H���
� ��� ��N����� u⃗ = (1, 2, 1)) v⃗ = (1, 3, 2)) u⃗′ = (4, 9, 5) ��

v⃗′ = (4, 11, 7)) 	�
���� 
�� ��� �L	����� (u⃗, v⃗) �� (u⃗′, v⃗′) �
��
���
�

�� 	�	� ����*���LN� ��N������ �� E+

.+ A%�
��	M�� E = R4
��L
� 	�
� �� �L ����N���� NL
�
�
�� �%���LN� ��N*

������ ��� R+

&L' ;����	�
�� x �� y ���� 
�� (3, 2, x, y) L��L����

� L� ����*���LN�

��N������ �
��
��� �L� (1, 4,−5, 2) �� (1, 2, 3, 1) �L
� R4
+

&M' B�
���� 
��

Vect {(3, 1,−2, 0), (−1, 0, 2, 1)} = Vect {(1, 1, 2, 2), (3, 2, 2, 3)} .

.0

%"& /�		�
� 	�
���� 
���
� �9���� ��� �
 ����!

���9;� ��;������ �
 ������9
� �9 ���
����
 -

E��� 	�
���� 
�%�
� �L���� F �%�
 K−���LN� ��N������ (E,+, ·) ��� �
 ����*

���LN� ��N������ �� E) �
 	�
��� 
�� ��� ����� ���������� ����L
��� ��
� �L���*

�L���� 6 F ̸= ∅
�� ���� ���� u, v ∈ F u+ v ∈ F 7

���� ���� u ∈ F �� α ∈ K) α · u ∈ F +

D� �
N��� 6 F ̸= ∅ �� ���� ���� u, v ∈ F �� α ∈ K) u+ α · v ∈ F +

2 < 2 6 8 5 2

:��� E = R3
	�
� �� �= ����?���� ?=
�
�
�� �����=?� ��?������ ��� R

�� ���� F =
{
(x, y, z) ∈ R3, x+ 2y = 0 et x+ y + z = 0

}
#

6�
���� 
�� F ��� �
 ����"���=?� ��?������ �� E#

D
 L 6

• 0 + 2 · 0 = 0 �� 0 + 0 + 0 = 0 ��
N (0, 0, 0) ∈ F �� �L� ����� F ̸= ∅+

• H���
� u = (x, y, z)) v = (a, b, c) ��� ���	�
�� �� F �� α ∈ R) �
 L 6

u+ α · v = (x, y, z) + α · (a, b, c) = (x+ α a, y + α b, z + α c);

�
 ���� x′ = x+ α a, y′ = y + α b et z′ = z + α c7 �
 L 6

x′ + 2y′ = x+ 2y + α(a+ 2b) = 0 + 0 = 0 car u, v ∈ F

��

x′ + y′ + z′ = (x+ α a) + (y + α b) + (z + α c)
= (x+ y + z) + α (a+ b+ c)
= 0 + 0 = 0 car u, v ∈ F

��
N u+ α · v ∈ F �� �L� ����� F ��� �
 ����*���LN� ��N������ �� E+

2���?�?��

;L
� R3
	�
� �� �L ����N���� NL
�
�
�� �%���LN� ��N������ ��� R) ��� ����*

�
��	M��� ����L
�� ��
�*��� ��� ����*���LN�� ��N������� �� R3
+

-+ F1 =
{
(x, y, z) ∈ R3, x+ 3y + z = 0

}
7

.+ F2 =
{
(x, y, z) ∈ R3, x+ 3y + z = 1

}
7

/+ F3 =
{
(x, y, z) ∈ R3, x+ z = 0

}
7

0+ F4 =
{
(x, y) ∈ R2, |x| = 2 |y|

}
8

.1

2.2 � Comment montrer qu’une partie est engendrée 
par une famille de vecteurs ?
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%"% /�		�
� 	�
���� 
���
� �9���� ��� �
��
!

���� �9� �
� �9	���� �� ��;����� -

H���
� (ai) �
� �L	���� �� ��N����� �%�
 K−���LN� ��N������ (E,+, ·) �� F �
�

�L���� �� E+

E��� 	�
���� 
�� F ��� �
��
���� �L� (ai)) �
 	�
��� 
�� 6

∀u ∈ F ) ∃ak1
, ak2

, · · ·, akn
) ∃λ1, λ2, · · ·, λn ∈ K ���� 
��

u = λ1 · ak1
+ λ2 · ak2

+ · · ·+ λn · akn

F�L
� F ��� �
��
���� �L� (ai)) �
 �N��� F = Vect {ai}+

2 < 2 6 8 5 2

:��� E = R[X] �����=?� ��?������ ��� ����
�	�� � ?���?��
�� ����� ��

���� (1, X,X(1−X)) �
� �=	���� �� ��?����� �� E# 7
 �����
� �=� F
���
��	>�� ��� ����
�	�� �� ����� �
������� �� ��=� � &#

6�
���
� 
�� F ��� �
��
��� �=� (1, X,X(1−X))#

H��� P ∈ F ) �� ������ L���� a, b, c ∈ R ���� 
�� P = aX2 + bX + c 7

N�		� P = c · 1 + (b + a) · X + (−a) · X(1 − X)) ��
N F ��� �
��
��� �L�

(1, X,X(1−X))+

2���?�?��

-+ A%�
��	M�� E = R3
��L
� 	�
� �� �L ����N���� NL
�
�
�� �%���LN� ��N*

������ ��� R+

&L' A� ��N���� u⃗ = (11, 10,−21) L��L����
�*�� L� ����*���LN� ��N������

�
��
��� �L� x⃗ = (−1, 0, 2) �� y⃗ = (−1, 4, 3) 8

&M' ;����	�
�� m ���� 
�� x⃗ = (m, 2,−3) L��L����

� L� ����*���LN�

��N������ �
��
��� �L� a⃗ = (1, 2, 3) �� b⃗ = (−1, 0, 2) 7

&N' H���
� ��� ��N����� u⃗ = (1, 2, 1)) v⃗ = (1, 3, 2)) u⃗′ = (4, 9, 5) ��

v⃗′ = (4, 11, 7)) 	�
���� 
�� ��� �L	����� (u⃗, v⃗) �� (u⃗′, v⃗′) �
��
���
�

�� 	�	� ����*���LN� ��N������ �� E+

.+ A%�
��	M�� E = R4
��L
� 	�
� �� �L ����N���� NL
�
�
�� �%���LN� ��N*

������ ��� R+

&L' ;����	�
�� x �� y ���� 
�� (3, 2, x, y) L��L����

� L� ����*���LN�

��N������ �
��
��� �L� (1, 4,−5, 2) �� (1, 2, 3, 1) �L
� R4
+

&M' B�
���� 
��

Vect {(3, 1,−2, 0), (−1, 0, 2, 1)} = Vect {(1, 1, 2, 2), (3, 2, 2, 3)} .

.0

%"& /�		�
� 	�
���� 
���
� �9���� ��� �
 ����!

���9;� ��;������ �
 ������9
� �9 ���
����
 -

E��� 	�
���� 
�%�
� �L���� F �%�
 K−���LN� ��N������ (E,+, ·) ��� �
 ����*

���LN� ��N������ �� E) �
 	�
��� 
�� ��� ����� ���������� ����L
��� ��
� �L���*

�L���� 6 F ̸= ∅
�� ���� ���� u, v ∈ F u+ v ∈ F 7

���� ���� u ∈ F �� α ∈ K) α · u ∈ F +

D� �
N��� 6 F ̸= ∅ �� ���� ���� u, v ∈ F �� α ∈ K) u+ α · v ∈ F +

2 < 2 6 8 5 2

:��� E = R3
	�
� �� �= ����?���� ?=
�
�
�� �����=?� ��?������ ��� R

�� ���� F =
{
(x, y, z) ∈ R3, x+ 2y = 0 et x+ y + z = 0

}
#

6�
���� 
�� F ��� �
 ����"���=?� ��?������ �� E#

D
 L 6

• 0 + 2 · 0 = 0 �� 0 + 0 + 0 = 0 ��
N (0, 0, 0) ∈ F �� �L� ����� F ̸= ∅+

• H���
� u = (x, y, z)) v = (a, b, c) ��� ���	�
�� �� F �� α ∈ R) �
 L 6

u+ α · v = (x, y, z) + α · (a, b, c) = (x+ α a, y + α b, z + α c);

�
 ���� x′ = x+ α a, y′ = y + α b et z′ = z + α c7 �
 L 6

x′ + 2y′ = x+ 2y + α(a+ 2b) = 0 + 0 = 0 car u, v ∈ F

��

x′ + y′ + z′ = (x+ α a) + (y + α b) + (z + α c)
= (x+ y + z) + α (a+ b+ c)
= 0 + 0 = 0 car u, v ∈ F

��
N u+ α · v ∈ F �� �L� ����� F ��� �
 ����*���LN� ��N������ �� E+

2���?�?��

;L
� R3
	�
� �� �L ����N���� NL
�
�
�� �%���LN� ��N������ ��� R) ��� ����*

�
��	M��� ����L
�� ��
�*��� ��� ����*���LN�� ��N������� �� R3
+

-+ F1 =
{
(x, y, z) ∈ R3, x+ 3y + z = 0

}
7

.+ F2 =
{
(x, y, z) ∈ R3, x+ 3y + z = 1

}
7

/+ F3 =
{
(x, y, z) ∈ R3, x+ z = 0

}
7

0+ F4 =
{
(x, y) ∈ R2, |x| = 2 |y|

}
8

.1

2.3 � Comment montrer qu’une partie est un sous-
espace vectoriel en utilisant la définition ?
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� �9���� ��� �
 ����!

���9;� ��;������ �
 ������9
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�����;���
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E��� 	�
���� 
�%�
� �L���� F �%�
 K−���LN� ��N������ (E,+, ·) ��� �
 ����*

���LN� ��N������ �� E) �� ��$� �� 	�
���� 
�� F ��� �
� �
�����N���
 �� ����*

���LN�� ��N������� �� E+

2 < 2 6 8 5 2

:��� E = R3
	�
� �� �= ����?���� ?=
�
�
�� �����=?� ��?������ ��� R

�� ���� F =
{
(x, y, z) ∈ R3, x+ 2y = 0 et x+ y + z = 0

}
#

6�
���
� 
�� F ��� �
 ����"���=?� ��?������ �� E#

D
 N�
������ ��� �
��	M��� ����L
��

F1 =
{
(x, y, z) ∈ R3, x+ 2y = 0

}

F2 =
{
(x, y, z) ∈ R3, x+ y + z = 0

}
.

D
 �L�� 
�� F1, F2 ��
� ��� ������� ��N���������) �L� L������� F = F1

⋂
F2) ��
N

F ��� �
 ����*���LN� ��N������ �� E+

2���?�?��

-+ H��� (ai,j)1≤i≤q,1≤j≤n �
� �L	���� �� �NL�L����+ B�
���� 
�� �%�
��	M�� E
��#
� �L� 6

E = {x = (x1, · · ·, xn) ∈ Kn, ∀i ∈ {1, · · ·, q} , ai 1x1 + · · ·+ ai nxn = 0}

��� �
 ����*���LN� ��N������ �� Kn
7

.+ ;L
� E = R[X] �%���LN� ��� ��
N���
� ����
 	�� � N��$N��
�� �����) �


N�
������ �� ����*�
��	M�� F �� E ��#
� �L� 6

F = {P ∈ E,P (1) + 2P ′(1) = 0, P”(2) = P ′(2) = 0} .

B�
���� 
�� F ��� �
 ����*���LN� ��N������ E 7

/+ H��� E = R3
	�
� �� �L ����N���� NL
�
�
�� �%���LN� ��N������ ��� R ��

����

F =
{
(x, y, z) ∈ R3, (x+ 2y)

2
+ (y + z)

2
= 0

}
.

B�
���� 
�� F ��� �
 ����*���LN� ��N������ E 7

0+ H��� E = R3
	�
� �� �L ����N���� NL
�
�
�� �%���LN� ��N������ ��� R ��

����

F =
{
(x, y, z) ∈ R3, x+ 2y + 3z = 0, x− y = 0

}
.

B�
���� 
�� F ��� �
 ����*���LN� ��N������ E+

.2

%"( /�		�
� 	�
���� 
���
� �9���� ��� �9 ��		�

�� ���� ����!���9;�� ��;������� -

E��� 	�
���� 
�%�
 ����*���LN� ��N������ F �%�
 K−���LN� ��N������ (E,+, ·)
��� ��		� �� ���� ����*���LN�� ��N������� F1 �� F2 �� F ) �
 	�
��� 
��

∀x ∈ F ) ∃x1 ∈ F1) ∃x2 ∈ F2 ���� 
�� x = x1 + x2+

2 < 2 6 8 5 2

:�� E = R[X] �����=?� ��?������ ��� ����
�	�� 	�
� �� �= ����?����

?=
�
�
�� �����=?� ��?������ ��� R! �
 ?�
������ ��� ����"���=?�� ��?"

������� . F = R3[X]! F1 = Vect {1, X} �� F2 = Vect
{
X(X2 − 1), X2

}
# 6�
"

���� 
�� F = F1 + F2#

H��� P = aX3 + bX2 + cX + d �
 ���	�
� 
���N�

�� �� F + D
 L 6

P = cX + d+ a(X3 −X) + bX2 + aX
= (d+ (c+ a)X) +

(
aX(X2 − 1) + bX2

)

�� ���� P1 = (d+ (c+ a)X) �� P2 =
(
aX(X2 − 1) + bX2

)
7

�
 L ��
N P1 ∈ F1) P2 ∈ F2 �� P = P1 + P2 �� �L� ����� F = F1 + F2+

2���?�?��

-+ ;L
� E = C([0, 1],R)) �
 N�
������ ��� �
��	M��� ����L
��

F =
{
f ∈ E,

∫ 1

0
f(t)dt = 0

}
�� G = {f ∈ E, f constante}+

B�
���� 
�� E = F +G+

.+ H���
� E = R[X] �%���LN� ��N������ ��� ����
 	�� 	�
� �� �L ����N����

NL
�
�
�� �%���LN� ��N������ ��� R) n ∈ N∗
) A �
 ����
 	� �� ����� n)

Rn−1[X] = {P ∈ E, P = 0 ou deg(P ) ≤ n− 1} �� ���� F = {QA, Q ∈ E}+

&L' B�
���� 
�� F ��� �
 ����*���LN� ��N������ �� E7

&M' B�
���� 
�� E = F + Rn−1[X]+

/+ H���
� E = S(N,R) �%�
��	M�� ��� ������ 
�	���
��� 	�
� �� �L ����N����

NL
�
�
�� �%���LN� ��N������ ��� R) F = Sc(N,R) �� ����*�
��	M�� �� E
N�
������ ��� ������ N�
�����
���) N �� ����*�
��	M�� �� E N�
������ ���

������ N�
�����
��� ���� , �� G �%�
��	M�� ��� ������ N�
��L
���+

&L' B�
���� 
�� F ) N �� G ��
� ��� ����*���LN�� ��N������� �� E7

&M' B�
���� 
�� F = N +G+

.3

2.4 � Comment montrer qu’une partie est un sous-
espace vectoriel en utilisant  l’intersection ?
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E��� 	�
���� 
�%�
� �L���� F �%�
 K−���LN� ��N������ (E,+, ·) ��� �
 ����*

���LN� ��N������ �� E) �� ��$� �� 	�
���� 
�� F ��� �
� �
�����N���
 �� ����*

���LN�� ��N������� �� E+

2 < 2 6 8 5 2

:��� E = R3
	�
� �� �= ����?���� ?=
�
�
�� �����=?� ��?������ ��� R

�� ���� F =
{
(x, y, z) ∈ R3, x+ 2y = 0 et x+ y + z = 0

}
#

6�
���
� 
�� F ��� �
 ����"���=?� ��?������ �� E#

D
 N�
������ ��� �
��	M��� ����L
��

F1 =
{
(x, y, z) ∈ R3, x+ 2y = 0

}

F2 =
{
(x, y, z) ∈ R3, x+ y + z = 0

}
.

D
 �L�� 
�� F1, F2 ��
� ��� ������� ��N���������) �L� L������� F = F1

⋂
F2) ��
N

F ��� �
 ����*���LN� ��N������ �� E+

2���?�?��

-+ H��� (ai,j)1≤i≤q,1≤j≤n �
� �L	���� �� �NL�L����+ B�
���� 
�� �%�
��	M�� E
��#
� �L� 6

E = {x = (x1, · · ·, xn) ∈ Kn, ∀i ∈ {1, · · ·, q} , ai 1x1 + · · ·+ ai nxn = 0}

��� �
 ����*���LN� ��N������ �� Kn
7

.+ ;L
� E = R[X] �%���LN� ��� ��
N���
� ����
 	�� � N��$N��
�� �����) �


N�
������ �� ����*�
��	M�� F �� E ��#
� �L� 6

F = {P ∈ E,P (1) + 2P ′(1) = 0, P”(2) = P ′(2) = 0} .

B�
���� 
�� F ��� �
 ����*���LN� ��N������ E 7

/+ H��� E = R3
	�
� �� �L ����N���� NL
�
�
�� �%���LN� ��N������ ��� R ��

����

F =
{
(x, y, z) ∈ R3, (x+ 2y)

2
+ (y + z)

2
= 0

}
.

B�
���� 
�� F ��� �
 ����*���LN� ��N������ E 7

0+ H��� E = R3
	�
� �� �L ����N���� NL
�
�
�� �%���LN� ��N������ ��� R ��

����

F =
{
(x, y, z) ∈ R3, x+ 2y + 3z = 0, x− y = 0

}
.

B�
���� 
�� F ��� �
 ����*���LN� ��N������ E+

.2
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E��� 	�
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�%�
 ����*���LN� ��N������ F �%�
 K−���LN� ��N������ (E,+, ·)
��� ��		� �� ���� ����*���LN�� ��N������� F1 �� F2 �� F ) �
 	�
��� 
��

∀x ∈ F ) ∃x1 ∈ F1) ∃x2 ∈ F2 ���� 
�� x = x1 + x2+

2 < 2 6 8 5 2

:�� E = R[X] �����=?� ��?������ ��� ����
�	�� 	�
� �� �= ����?����

?=
�
�
�� �����=?� ��?������ ��� R! �
 ?�
������ ��� ����"���=?�� ��?"

������� . F = R3[X]! F1 = Vect {1, X} �� F2 = Vect
{
X(X2 − 1), X2

}
# 6�
"

���� 
�� F = F1 + F2#

H��� P = aX3 + bX2 + cX + d �
 ���	�
� 
���N�

�� �� F + D
 L 6

P = cX + d+ a(X3 −X) + bX2 + aX
= (d+ (c+ a)X) +

(
aX(X2 − 1) + bX2

)

�� ���� P1 = (d+ (c+ a)X) �� P2 =
(
aX(X2 − 1) + bX2

)
7

�
 L ��
N P1 ∈ F1) P2 ∈ F2 �� P = P1 + P2 �� �L� ����� F = F1 + F2+

2���?�?��

-+ ;L
� E = C([0, 1],R)) �
 N�
������ ��� �
��	M��� ����L
��

F =
{
f ∈ E,

∫ 1

0
f(t)dt = 0

}
�� G = {f ∈ E, f constante}+

B�
���� 
�� E = F +G+

.+ H���
� E = R[X] �%���LN� ��N������ ��� ����
 	�� 	�
� �� �L ����N����

NL
�
�
�� �%���LN� ��N������ ��� R) n ∈ N∗
) A �
 ����
 	� �� ����� n)

Rn−1[X] = {P ∈ E, P = 0 ou deg(P ) ≤ n− 1} �� ���� F = {QA, Q ∈ E}+

&L' B�
���� 
�� F ��� �
 ����*���LN� ��N������ �� E7

&M' B�
���� 
�� E = F + Rn−1[X]+

/+ H���
� E = S(N,R) �%�
��	M�� ��� ������ 
�	���
��� 	�
� �� �L ����N����

NL
�
�
�� �%���LN� ��N������ ��� R) F = Sc(N,R) �� ����*�
��	M�� �� E
N�
������ ��� ������ N�
�����
���) N �� ����*�
��	M�� �� E N�
������ ���

������ N�
�����
��� ���� , �� G �%�
��	M�� ��� ������ N�
��L
���+

&L' B�
���� 
�� F ) N �� G ��
� ��� ����*���LN�� ��N������� �� E7

&M' B�
���� 
�� F = N +G+

.3

2.5 � Comment montrer qu’une partie est la somme de 
deux sous-espaces vectoriels ?
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E��� 	�
���� 
�%�
� �L���� (F,+, ·) ��� �
 K−���LN� ��N������) �� ��$� ��

	�
���� 
�� F ��� �
 ����*���LN� ��N������ �%�
 K−���LN� ��N������ (E,+, ·)+

2 < 2 6 8 5 2

:��� T > 0# 6�
���� 
�� ���
��	>�� FT (R,R) ��� ��
?���
� �������
���

���
��� ��� R ��� �
 ���=?� ��?������ �	�
� �� ��=������
 ��� ��
?���
�

�� �� �= 	�������?=���
 �=� �
 ���� #

7
 �=�� 
�� (F (R,R),+, ·) ���
��	>�� ��� ��
?���
� ���
��� �� R �=
�

R ��� �
 ���=?� ��?������ ��� R#

6�
���
� 
�� FT (R,R) ��� �
 ����"���=?� ��?������ �� (F (R,R),+, ·)+

• AL ��
N���
 
���� ��� �
� ��
N���
 T−�������
��) ��
N FT (R,R) ��� 
�
 ���� 7

• H���
� f ) g ∈ FT (R,R) �� α ∈ R+ 9*�*�
 f + α · g ∈ FT (R,R) 8

E��� ���� x ∈ R) �
 L 6

(f + α · g) (x+ T ) = f(x+ T ) + (α · g) (x+ T )
= f(x) + αg(x+ T )
= f(x) + αg(x)
= (f + α · g) (x)

��
N f + α · g ∈ FT (R,R))

EL� ����� FT (R,R)��� �
 ����*���LN� ��N������ �� (F (R,R),+, ·)+

2���?�?��

-+ ;�	�
���� 
�� �%�
��	M�� ��� ��
N���
� f �� [0, 1] �L
� R ������ 
�� 6

∃Kf > 0, ∀x, x′ ∈ [0, 1], |f(x)− f(x′)| ≤ Kf |x− x′|

��� �
 ���LN� ��N������ ��� R &	�
� �� �%L������
 ��� ��
N���
� �� �� �L

	�������NL���
 �L� �
 ����'+

.+ ;�	�
���� 
�� �%�
��	M�� ��� ��
N���
� L$
�� �� R �L
� R ��� �
 ���LN�

��N������ ��� R+

/+ H��� Q[
√
2] �%�
��	M�� ��� 
�	M��� ����� �� �L ���	� a+ b

√
2 �! a, b ∈ Q+

B�
���� 
��

(
Q[

√
2],+, ·

)
��� �
 ���LN� ��N������ ��� Q+

.4
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E��� 	�
���� 
�� ���� ����*���LN�� ��N������� E1) E2 �%�
 K−���LN� ��N������

(E,+, ·) ��
� ������	�
�!����) �
 	�
��� 
�� 6 E1

⋂
E2 = {0E} �� E = E1+E2+

D
 ��� L���� 
�� E ��� ��		� ����#�� �� F1 �� �� F2 �� �
 
��� E = E1 ⊕E2+

2 < 2 6 8 5 2

1=
� E = R3[x] �����=?� ��?������ ��� ��
?���
� ����
�	�� �� �����

�
������� �� ��=� � ' �� � ?���?��
�� �����! �
 ?�
������ ���
��	>��

E1 = {f ∈ E, deg(f) ≤ 1} �� E2 = Vect {f1, f2} �� f1 : x → x2 − x ��

f2 : x → x3 + x2
#

6�
���
� 
�� E1! E2 ��
� ������	�
�=���� �=
� E#

• H��� f ∈ E1

⋂
E2) �� ������ a, b, c, d ∈ R ���� 
�� 6

∀x ∈ R, f(x) = ax+ b = c(x2 − x) + d(x3 + x2).

��
N ���� ���� x ∈ R, dx3 + (d + c)x2 + (−a − c)x − b = 0) �%�! d = 0)
(d+ c) = 0) (−a− c) = 0 �� b = 0 �� �
N��� a = b = c = d = 0+

:%���*�*���� f = 0E �� �L� N�
��
��
� E1

⋂
E2 = {0E}+

• H��� f ∈ E) ��
N �� ������ α, β, γ, λ ∈ R ���� 
�� 6

∀x ∈ R, f(x) = αx3 + βx2 + γx+ λ

∀x ∈ R, f(x) = α(x3 + x2)− αx2 + β(x2 − x) + βx+ γx+ λ

D
 ����#� 
�� ���� ���� x ∈ R6

f(x) = ((β + γ − α)x+ λ) +
(
α(x3 + x2) + (β − α)(x2 − x)

)
.

:�
������
� g, h ��� ���	�
�� �� E ��#
�� ���� ���� x ∈ R �L� 6

g(x) = (β + γ − α)x+ λ et h(x) = α(x3 + x2) + (β − α)(x2 − x).

D
 L g ∈ E1) h ∈ E2 �� f = g + h) �%�! E = E1 + E2) �L� ����� E = E1 ⊕ E2+

2���?�?��

-+ B�
���� 
�� �� ����*���LN� ��N������ ��� ��
N���
� �L���� �� �� ����*���LN�

��N������ ��� ��
N���
� �	�L���� ��
� ������	�
�L���� �L
� �%���LN� ��N*

������ ��� ��
N���
�+

(' E��� ��� ����N�N�� N�	���	�
�L����) �� �������� �L�� 6 -00+

.5

2.6 � Comment montrer qu’une partie est un espace 
vectoriel ?
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2 < 2 6 8 5 2

:��� T > 0# 6�
���� 
�� ���
��	>�� FT (R,R) ��� ��
?���
� �������
���

���
��� ��� R ��� �
 ���=?� ��?������ �	�
� �� ��=������
 ��� ��
?���
�

�� �� �= 	�������?=���
 �=� �
 ���� #

7
 �=�� 
�� (F (R,R),+, ·) ���
��	>�� ��� ��
?���
� ���
��� �� R �=
�

R ��� �
 ���=?� ��?������ ��� R#

6�
���
� 
�� FT (R,R) ��� �
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• AL ��
N���
 
���� ��� �
� ��
N���
 T−�������
��) ��
N FT (R,R) ��� 
�
 ���� 7

• H���
� f ) g ∈ FT (R,R) �� α ∈ R+ 9*�*�
 f + α · g ∈ FT (R,R) 8

E��� ���� x ∈ R) �
 L 6

(f + α · g) (x+ T ) = f(x+ T ) + (α · g) (x+ T )
= f(x) + αg(x+ T )
= f(x) + αg(x)
= (f + α · g) (x)

��
N f + α · g ∈ FT (R,R))

EL� ����� FT (R,R)��� �
 ����*���LN� ��N������ �� (F (R,R),+, ·)+

2���?�?��

-+ ;�	�
���� 
�� �%�
��	M�� ��� ��
N���
� f �� [0, 1] �L
� R ������ 
�� 6

∃Kf > 0, ∀x, x′ ∈ [0, 1], |f(x)− f(x′)| ≤ Kf |x− x′|

��� �
 ���LN� ��N������ ��� R &	�
� �� �%L������
 ��� ��
N���
� �� �� �L

	�������NL���
 �L� �
 ����'+

.+ ;�	�
���� 
�� �%�
��	M�� ��� ��
N���
� L$
�� �� R �L
� R ��� �
 ���LN�

��N������ ��� R+

/+ H��� Q[
√
2] �%�
��	M�� ��� 
�	M��� ����� �� �L ���	� a+ b

√
2 �! a, b ∈ Q+

B�
���� 
��

(
Q[

√
2],+, ·

)
��� �
 ���LN� ��N������ ��� Q+
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E��� 	�
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(E,+, ·) ��
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�!����) �
 	�
��� 
�� 6 E1

⋂
E2 = {0E} �� E = E1+E2+

D
 ��� L���� 
�� E ��� ��		� ����#�� �� F1 �� �� F2 �� �
 
��� E = E1 ⊕E2+

2 < 2 6 8 5 2

1=
� E = R3[x] �����=?� ��?������ ��� ��
?���
� ����
�	�� �� �����

�
������� �� ��=� � ' �� � ?���?��
�� �����! �
 ?�
������ ���
��	>��

E1 = {f ∈ E, deg(f) ≤ 1} �� E2 = Vect {f1, f2} �� f1 : x → x2 − x ��

f2 : x → x3 + x2
#

6�
���
� 
�� E1! E2 ��
� ������	�
�=���� �=
� E#

• H��� f ∈ E1

⋂
E2) �� ������ a, b, c, d ∈ R ���� 
�� 6

∀x ∈ R, f(x) = ax+ b = c(x2 − x) + d(x3 + x2).

��
N ���� ���� x ∈ R, dx3 + (d + c)x2 + (−a − c)x − b = 0) �%�! d = 0)
(d+ c) = 0) (−a− c) = 0 �� b = 0 �� �
N��� a = b = c = d = 0+

:%���*�*���� f = 0E �� �L� N�
��
��
� E1

⋂
E2 = {0E}+

• H��� f ∈ E) ��
N �� ������ α, β, γ, λ ∈ R ���� 
�� 6

∀x ∈ R, f(x) = αx3 + βx2 + γx+ λ

∀x ∈ R, f(x) = α(x3 + x2)− αx2 + β(x2 − x) + βx+ γx+ λ

D
 ����#� 
�� ���� ���� x ∈ R6

f(x) = ((β + γ − α)x+ λ) +
(
α(x3 + x2) + (β − α)(x2 − x)

)
.

:�
������
� g, h ��� ���	�
�� �� E ��#
�� ���� ���� x ∈ R �L� 6

g(x) = (β + γ − α)x+ λ et h(x) = α(x3 + x2) + (β − α)(x2 − x).

D
 L g ∈ E1) h ∈ E2 �� f = g + h) �%�! E = E1 + E2) �L� ����� E = E1 ⊕ E2+

2���?�?��

-+ B�
���� 
�� �� ����*���LN� ��N������ ��� ��
N���
� �L���� �� �� ����*���LN�

��N������ ��� ��
N���
� �	�L���� ��
� ������	�
�L���� �L
� �%���LN� ��N*

������ ��� ��
N���
�+

(' E��� ��� ����N�N�� N�	���	�
�L����) �� �������� �L�� 6 -00+

.5

2.7 � Comment montrer que deux sous-espaces 
vectoriels sont supplémentaires ?
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H��� (a1, a2, · · ·, an) �
� �L	���� �� ��N����� �%�
 K−���LN� ��N������ (E,+, ·)+
E��� 	�
���� 
�� (a1, a2, · · ·, an) ��� �
� �!	���� ��
��!���#� �� E� �
 	�
���


�� ���� ���	�
� u �� E ��� N�	M�
L���
 ��
�L��� �� (a1, a2, · · ·, an) N%���*�*���� 6

∀u ∈ E ) ∃λ1, λ2, · · ·, λn ∈ K ���� 
�� u = λ1 · a1 + λ2 · a2 + · · ·+ λn · an+

2 < 2 6 8 5 2

1=
� E = R2[x] ������=?� ��?������ ��� ��
?���
� ����
�	�� �� �����

�
������� �� ��=� � & �� � ?���?��
�� ����� ! �
 ?�
������ ��� ��
?���
�

g1, g2, g3 ���
��� ���� ���� x ∈ R �=� .

g1(x) = x2 + 1, g2(x) = 2x et g3(x) = x2 − 1.

6�
���� 
�� (g1, g2, g3) ��� �
� �=	���� ��
��=���?� �� E#

H��� f : x → ax2+bx+c �
 ���	�
� 
���N�

�� �� E) �
 N���N�� λ1, λ2, λ3 ∈ R
���� 
�� 6

f = λ1g1 + λ2g2 + λ3g3

N%���*�*���� 6

∀x ∈ R, ax2 + bx+ c = λ1(x
2 + 1) + λ22x+ λ3(x

2 − 1).

D
 �M���
� a = λ1 + λ3 , b = 2λ2 , c = λ1 − λ3

�%�! λ1 =
a+ c

2
) λ2 =

b

2
) λ3 =

a− c

2
+

2���?�?��

-+ ;L
� �%���LN� ��N������ E = R2
) ��� ��N����� ����L
�� ���	�
�*��� �
�

�L	���� ��
��L���N� 8

&L' u⃗ = (2, 3)) v⃗ = (−1, 5) 7

&M' a⃗ = (3, 3)) b⃗ = (0, 7))
⇀
c= (−2, 5)+

.+ ;L
� E = R2[X] �%���LN� ��N������ ��� ����
 	�� �� ����� �
������� ��

��L� � . �� � N��$N��
�� �����) ��� ��N����� ����L
�� ���	�
�*��� �
� �L	����

��
��L���N� 8

&L' P = 1) Q = X �� R = X(X − 1) 7

&M' P = 2X2 − 5) Q = 7X �� R = 3X2 + 4+

/,

%", /�		�
� 	�
���� 
���
� �9	���� ��� ��:��

�� �
 �����	� �� ��;����� ��
�9���	�
� �
!

����
�9
�� -

E��� 	�
���� 
�%�
� �L	���� (ai)1≤i≤n �� ��N����� �%�
 K−���LN� ��N������

(E,+, ·) ��� ��"��) �
 	�
��� 
�� 6

���� ���� λ1, λ2, · · ·, λn ∈ K)

λ1 · a1 + λ2 · a2 + · · ·+ λn · an = 0E ⇒ λ1 = λ2 = · · · = λn = 0

2 < 2 6 8 5 2

1=
� E = R3
	�
� �� �= ����?���� ?=
�
�
�� �����=?� ��?������ ���

R! �
 ?�
������ ��� ��?����� u1 = (1,−2, 0) �� u2 = (0, 3,−1)#

6�
���� 
�� (u1, u2) ��� �
� �=	���� ��>��#

H���
� λ1, λ2 ∈ R ���� 
�� λ1 · a1 + λ2 · a2 = (0, 0, 0)+ 9*�*�
 λ1 = λ2 = 0 8

λ1 · u1 + λ2 · u2 = (0, 0, 0) ⇔ (λ1,−2λ1 + 3λ2,−λ2) = (0, 0, 0)

⇔




λ1 = 0
−2λ1 + 3λ2 = 0
−λ2 = 0

N%���*�*���� λ1 = λ2 = 0 7

�� �L� ����� (u1, u2) ��� �
� �L	���� ��M��+

2���?�?��

-+ ;L
� �%���LN� ��N������ E = R3
) ��� ��N����� ����L
�� ��
�*��� �
����
*

�L
�� 8

&L'

−→
A = (0, 1, 3))

−→
B = (2, 0,−1) ��

−→
C = (2, 0, 1) 7

&M'

−→
A′ = (−1, 1, 1))

−→
B′ = (1,−1, 1) ��

−→
C ′ = (1, 1,−1) 7

&N' u⃗ = (1, 2, 3)) v⃗ = (−2, 3, 1) �� w⃗ = (0, 7, 7)+

.+ ;L
� �%���LN� ��N������ R4
) �
 N�
������ ��� ��N����� 6

u⃗ = (1, 2, 3, 0), v⃗ = (−2, 3, 5, 4), w⃗ = (8,−5,−9,−12)

&L' (u⃗, v⃗, w⃗) ���*���� ��M�� R4
8

&M' ;����	�
�� m ∈ R ���� 
�� ��� ����� ��N����� u⃗′, v⃗′, w⃗′
����L
��

u⃗′ = (0, 2, 3, 5), v⃗′ = (1, 1, 2, 4), w⃗′ = (2, 4,m, 13)

����
� ��
�L���	�
� �
����
�L
��+

/-

2.8 � Comment montrer qu’une famille est génératrice 
ou un système générateur ?
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 	�
���


�� ���� ���	�
� u �� E ��� N�	M�
L���
 ��
�L��� �� (a1, a2, · · ·, an) N%���*�*���� 6

∀u ∈ E ) ∃λ1, λ2, · · ·, λn ∈ K ���� 
�� u = λ1 · a1 + λ2 · a2 + · · ·+ λn · an+

2 < 2 6 8 5 2

1=
� E = R2[x] ������=?� ��?������ ��� ��
?���
� ����
�	�� �� �����

�
������� �� ��=� � & �� � ?���?��
�� ����� ! �
 ?�
������ ��� ��
?���
�

g1, g2, g3 ���
��� ���� ���� x ∈ R �=� .

g1(x) = x2 + 1, g2(x) = 2x et g3(x) = x2 − 1.

6�
���� 
�� (g1, g2, g3) ��� �
� �=	���� ��
��=���?� �� E#

H��� f : x → ax2+bx+c �
 ���	�
� 
���N�

�� �� E) �
 N���N�� λ1, λ2, λ3 ∈ R
���� 
�� 6

f = λ1g1 + λ2g2 + λ3g3

N%���*�*���� 6

∀x ∈ R, ax2 + bx+ c = λ1(x
2 + 1) + λ22x+ λ3(x

2 − 1).

D
 �M���
� a = λ1 + λ3 , b = 2λ2 , c = λ1 − λ3

�%�! λ1 =
a+ c

2
) λ2 =

b

2
) λ3 =

a− c

2
+

2���?�?��

-+ ;L
� �%���LN� ��N������ E = R2
) ��� ��N����� ����L
�� ���	�
�*��� �
�

�L	���� ��
��L���N� 8

&L' u⃗ = (2, 3)) v⃗ = (−1, 5) 7

&M' a⃗ = (3, 3)) b⃗ = (0, 7))
⇀
c= (−2, 5)+

.+ ;L
� E = R2[X] �%���LN� ��N������ ��� ����
 	�� �� ����� �
������� ��

��L� � . �� � N��$N��
�� �����) ��� ��N����� ����L
�� ���	�
�*��� �
� �L	����

��
��L���N� 8

&L' P = 1) Q = X �� R = X(X − 1) 7

&M' P = 2X2 − 5) Q = 7X �� R = 3X2 + 4+

/,
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E��� 	�
���� 
�%�
� �L	���� (ai)1≤i≤n �� ��N����� �%�
 K−���LN� ��N������

(E,+, ·) ��� ��"��) �
 	�
��� 
�� 6

���� ���� λ1, λ2, · · ·, λn ∈ K)

λ1 · a1 + λ2 · a2 + · · ·+ λn · an = 0E ⇒ λ1 = λ2 = · · · = λn = 0

2 < 2 6 8 5 2

1=
� E = R3
	�
� �� �= ����?���� ?=
�
�
�� �����=?� ��?������ ���

R! �
 ?�
������ ��� ��?����� u1 = (1,−2, 0) �� u2 = (0, 3,−1)#

6�
���� 
�� (u1, u2) ��� �
� �=	���� ��>��#

H���
� λ1, λ2 ∈ R ���� 
�� λ1 · a1 + λ2 · a2 = (0, 0, 0)+ 9*�*�
 λ1 = λ2 = 0 8

λ1 · u1 + λ2 · u2 = (0, 0, 0) ⇔ (λ1,−2λ1 + 3λ2,−λ2) = (0, 0, 0)

⇔




λ1 = 0
−2λ1 + 3λ2 = 0
−λ2 = 0

N%���*�*���� λ1 = λ2 = 0 7

�� �L� ����� (u1, u2) ��� �
� �L	���� ��M��+

2���?�?��

-+ ;L
� �%���LN� ��N������ E = R3
) ��� ��N����� ����L
�� ��
�*��� �
����
*

�L
�� 8

&L'

−→
A = (0, 1, 3))

−→
B = (2, 0,−1) ��

−→
C = (2, 0, 1) 7

&M'

−→
A′ = (−1, 1, 1))

−→
B′ = (1,−1, 1) ��

−→
C ′ = (1, 1,−1) 7

&N' u⃗ = (1, 2, 3)) v⃗ = (−2, 3, 1) �� w⃗ = (0, 7, 7)+

.+ ;L
� �%���LN� ��N������ R4
) �
 N�
������ ��� ��N����� 6

u⃗ = (1, 2, 3, 0), v⃗ = (−2, 3, 5, 4), w⃗ = (8,−5,−9,−12)

&L' (u⃗, v⃗, w⃗) ���*���� ��M�� R4
8

&M' ;����	�
�� m ∈ R ���� 
�� ��� ����� ��N����� u⃗′, v⃗′, w⃗′
����L
��

u⃗′ = (0, 2, 3, 5), v⃗′ = (1, 1, 2, 4), w⃗′ = (2, 4,m, 13)

����
� ��
�L���	�
� �
����
�L
��+
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2.9 � Comment montrer qu’une famille est libre ou un 
système de vecteur linéairement indépendants ?
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 K−���LN� ��N������

(E,+, ·) ��� ����) �
 	�
��� 
�%�� ������ λ1, λ2, · · ·, λn ∈ K 
�
 ���� 
��� ����


��

λ1 · a1 + λ2 · a2 + · · ·+ λn · an = 0E .

2 < 2 6 8 5 2

1=
� E = R2[x] ������=?� ��?������ ��� ��
?���
� ����
�	�� �� �����

�
������� �� ��=� � & �� � ?���?��
�� ����� ! �
 ?�
������ ��� ��
?���
�

f1, f2, f3 ���
��� ���� ���� x ∈ R �=� . f1(x) = x2 + 1! f2(x) = x2 − 1 ��

f3(x) = x2
#

6�
���
� 
�� (f1, f2, f3) ��� ����#

H���
� λ1, λ2, λ3 ∈ R ���� 
�� 6 λ1f1 + λ2f2 + λ3f3 = 0 7

E��� ���� x ∈ R) �
 L λ1(x
2 + 1) + λ2(x

2 − 1) + λ3x
2 = 0) N%���*�*���� 6{

λ1 + λ2 + λ3 = 0
λ1 − λ2 = 0

�%�! λ1 = λ2 = −λ3

2
+

?� � L ��
N �
� �
#
��� �� �������
�

(
−λ3

2
,−λ3

2
, λ3

)
L��N λ3 ���� L�M���L��� 7

?� � L) �
 �L���N�����) (1, 1,−2) &�
 ���
L
� λ3 = −2' 6 f1 + f2 − 2f3 = 0 +

EL� ����� (f1, f2, f3) ��� ����+

2���?�?��

-+ ;L
� R2
	�
� �� �L ����N���� NL
�
�
�� �%���LN� ��N������ ��� R 	�
����


�� ��� ��N����� ����L
�� ���	�
� �
� �L	���� ����+

&L' u⃗ = (1,−1)) v⃗ = (1, 3) �� w⃗ = (2, 5) 7

&M' x⃗ = (0, 1)) y⃗ = (1, 1) �� z⃗ = (2, 3)+

.+ H��� a �
 
�	M�� ����+ E��� 
������ �L����� �� a) ��� ��N����� 6

(a+ 2, a, a− 2), (1, a,−1), (a,−a, 1)

���	�
�*��� �
� �L	���� ���� �� R3
8
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E��� 	�
���� 
�%�
� �L	���� (ai)1≤i≤n �� ��N����� �%�
 K−���LN� ��N������

(E,+, ·) ��� �
� "!�� �� E) �
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��� 
�� (ai)1≤i≤n ��� � �L ���� ��M�� ��
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��L���N�+

2 < 2 6 8 5 2

1=
� �����=?� ��?������ R2
! �
 ?�
������ ��� ��?����� u⃗ = (2, 3) ��

v⃗ = (−1, 5)#

6�
���
� 
�� �= �=	���� (u⃗, v⃗) ��� �
� >=�� �� R2
#

-+ (u⃗, v⃗) ��� �
� �L	���� ��
��L���N� �� R2
+ <
 �"�� 6

H��� x⃗ = (x1, x2) �
 ���	�
� 
���N�

�� �� R2
+ D
 N���N�� α, β ∈ R ����


�� x⃗ = α · u⃗+ β · v⃗+ D
 L 6

x⃗ = α · u⃗+ β · v⃗ ⇔ (x1, x2) = (2α− β, 3α+ 5β)

⇔
{

x1 = 2α− β
x2 = 3α+ 5β

⇔
{

5x1 = 10α− 5β
x2 = 3α+ 5β

�%�! 6 α =
1

13
(5x1 + x2) �� β = 2α− x1 =

1

13
(−3x1 + 2x2)+

.+ (u⃗, v⃗)��� �
� �L	���� ��M�� �� R2
+ <
 �"�� 6

H���
� α, β ∈ R ���� 
�� α · u⃗+ β · v⃗ = 0⃗) 	�
���
� 
�� α = β = 0+

D
 L 6

α · u⃗+ β · v⃗ = 0⃗ ⇔ (2α− β = 0 et 3α+ 5β = 0)

⇔
{

10α− 5β = 5 · 0
3α+ 5β = 0

�%�! α =
1

13
(5 · 0 + 0) = 0 �� β = 2α− x1 = 2 · 0− 0 = 0+

2���?�?��

-+ ;L
� �%���LN� ��N������ R3
) �
 N�
������ ��� ����� ��N����� u⃗ = (2, 3, 0))

v⃗ = (1,−1, 1) �� w⃗ = (−1, 3, 5)+ B�
���� 
�� �L �L	���� (u⃗, v⃗, w⃗) ��� �
�

ML�� �� R3
7

.+ ;L
� �%���LN� ��N������ R2
) �
 N�
������ ��� ��N����� u⃗ = (3, 3)) v⃗ = (0, 7)

�� w⃗ = (−2, 5)+ AL �L	���� (u⃗, v⃗, w⃗) ���*���� �
� ML�� �� R2
8

//

2.10 � Comment montrer qu’une famille est liée ou un 
système de vecteurs linéairement dépendants ?
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2 < 2 6 8 5 2

1=
� E = R2[x] ������=?� ��?������ ��� ��
?���
� ����
�	�� �� �����

�
������� �� ��=� � & �� � ?���?��
�� ����� ! �
 ?�
������ ��� ��
?���
�

f1, f2, f3 ���
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f3(x) = x2
#
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+
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�
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&L' u⃗ = (1,−1)) v⃗ = (1, 3) �� w⃗ = (2, 5) 7

&M' x⃗ = (0, 1)) y⃗ = (1, 1) �� z⃗ = (2, 3)+

.+ H��� a �
 
�	M�� ����+ E��� 
������ �L����� �� a) ��� ��N����� 6

(a+ 2, a, a− 2), (1, a,−1), (a,−a, 1)

���	�
�*��� �
� �L	���� ���� �� R3
8

/.

%"$$ /�		�
� 	�
���� 
���
� �9	���� ��� �
�

:9�� -

E��� 	�
���� 
�%�
� �L	���� (ai)1≤i≤n �� ��N����� �%�
 K−���LN� ��N������

(E,+, ·) ��� �
� "!�� �� E) �
 	�
��� 
�� (ai)1≤i≤n ��� � �L ���� ��M�� ��

��
��L���N�+

2 < 2 6 8 5 2

1=
� �����=?� ��?������ R2
! �
 ?�
������ ��� ��?����� u⃗ = (2, 3) ��

v⃗ = (−1, 5)#

6�
���
� 
�� �= �=	���� (u⃗, v⃗) ��� �
� >=�� �� R2
#

-+ (u⃗, v⃗) ��� �
� �L	���� ��
��L���N� �� R2
+ <
 �"�� 6

H��� x⃗ = (x1, x2) �
 ���	�
� 
���N�

�� �� R2
+ D
 N���N�� α, β ∈ R ����


�� x⃗ = α · u⃗+ β · v⃗+ D
 L 6

x⃗ = α · u⃗+ β · v⃗ ⇔ (x1, x2) = (2α− β, 3α+ 5β)

⇔
{

x1 = 2α− β
x2 = 3α+ 5β

⇔
{

5x1 = 10α− 5β
x2 = 3α+ 5β

�%�! 6 α =
1

13
(5x1 + x2) �� β = 2α− x1 =

1

13
(−3x1 + 2x2)+

.+ (u⃗, v⃗)��� �
� �L	���� ��M�� �� R2
+ <
 �"�� 6

H���
� α, β ∈ R ���� 
�� α · u⃗+ β · v⃗ = 0⃗) 	�
���
� 
�� α = β = 0+

D
 L 6

α · u⃗+ β · v⃗ = 0⃗ ⇔ (2α− β = 0 et 3α+ 5β = 0)

⇔
{

10α− 5β = 5 · 0
3α+ 5β = 0

�%�! α =
1

13
(5 · 0 + 0) = 0 �� β = 2α− x1 = 2 · 0− 0 = 0+

2���?�?��

-+ ;L
� �%���LN� ��N������ R3
) �
 N�
������ ��� ����� ��N����� u⃗ = (2, 3, 0))

v⃗ = (1,−1, 1) �� w⃗ = (−1, 3, 5)+ B�
���� 
�� �L �L	���� (u⃗, v⃗, w⃗) ��� �
�

ML�� �� R3
7

.+ ;L
� �%���LN� ��N������ R2
) �
 N�
������ ��� ��N����� u⃗ = (3, 3)) v⃗ = (0, 7)

�� w⃗ = (−2, 5)+ AL �L	���� (u⃗, v⃗, w⃗) ���*���� �
� ML�� �� R2
8

//

2.11 � Comment montrer qu’une famille est une base ?
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E��� 	�
���� 
�%�
 ���LN� ��N������ E ��� �� ��	�
���
 #
�� n ∈ N∗
)

�
 ������ �
� ML�� �� E 
�� L n ���	�
��+

;L
� N� NL� �
 
��� dim (E) = n+

�!� #�
��
���
 �
 ���� dim ({0E}) = 0+

2 < 2 6 8 5 2

-+ 5����=?� ��?������ E = R2
= ���� ��	�
���
 &#

:L� �L �L	���� ((0, 1), (1, 0)) ���	� �
� ML�� �� R2
+

.+ :��� E =
{
(x, y, z) ∈ R3, x− 2y + z = 0

}
+ 1����	�
�� �= ��	�
���


�� E+

H��� u = (x, y, z) �
 ���	�
� 
���N�

�� �� E) ��
N x = 2y−z) �
 �
 ��*

���� 
�� u = y(2, 1, 0)+ z(−1, 0, 1) �� �L� �����) ��� ��N����� u1 = (2, 1, 0)
�� u2 = (−1, 0, 1) ���	�
� �
� �L	���� ��
��L���N� �� E) �L� L�������

(u1, u2) ��� ��M��) �L� N�
��
��
� (u1, u2) ��� �
� ML�� �� E)

�%�! dim (E) = 2+

2���?�?��

-+ ;L
� R3
	�
� �� �L ����N���� NL
�
�
�� �%���LN� ��N������ ��� R) �


N�
������ �%�
��	M�� F1 ��� �������� �� �L ���	� 6 x1 = (a,−b, a+ b) �!

a �� b ��
� ��� 
�	M��� ����� 
���N�

���) �� F2 �%�
��	M�� ��� ��������

�� �L ���	� 6 x2 = (k, 2h+ k,−2h) �! h �� k ��
� ��� 
�	M��� �����


���N�

���+

&L' ;�	�
���� 
�� F1 �� F2 ��
� ��� ����*���LN�� ��N������� �� R3
��

�
��
��� �
� ML�� �� �L ��	�
���
 �� N�LN�
 �%��� 7

&M' ;����	�
�� F1

⋂
F2 �� �L ��	�
���
 m 7

&N' ;����	�
�� F1 + F2 �� �L ��	�
���
 n 7

&�' K���#�� 
�� dim (F1 + F2) + dim (F1

⋂
F2) = dim (F1) + dim (F2)+

.+ B�	�� 
������
� 
�� �%����N�N� -) L��N 6 F1 ��L
� �%�
��	M�� ��� ��������

x1 = (a− b, 2a, 3a+ 2b) �! a �� b ��
� ��� 
�	M��� ����� 
���N�

���) F2

�
��	M�� ��� �������� x2 = (h, h + k, h + 2k) �! h �� k ��
� ��� 
�	M���

����� 
���N�

���+

/0
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H���
� E) F ���� K−���LN�� ��N������� �� ���� f �
� L����NL���
 �� E �L
� F +

E��� 	�
���� 
�� f ��� ��
�!���) �
 	�
��� 
�� ��� ���������� ����L
��� ��
�

�L����L����

∀x, y ∈ E) �
 L 6 f(x+ y) = f(x) + f(y)
∀x ∈ E, ∀α ∈ K) �
 L 6 f(α x) = α f(x)

D� �
N��� 6

∀u, v ∈ E, ∀α ∈ K) �
 L 6 f(u+ α v) = f(u) + α f(v)

2 < 2 6 8 5 2

:��� f ��=����?=���
 �� R3
�=
� R2

���
�� �=�

f(x, y, z) = (x− y, y + 2z)

6�
���� 
�� f ��� �
� =����?=���
 ��
�=���#

H���
� u = (x, y, z)) v = (x′, y′, z′) ��� ���	�
�� �� R3
�� α ∈ R+

:�		� u+ α v = (x+ α x′,y + α y′, z + α z′))

�� �%�
���� 
�� 6

f(u+ α v) = ((x+ α x′)− (y + α y′), (y + α y′) + 2(z + α z′))
= ((x− x′) + α (y − y′), y + 2z + α (y′ + 2z′))
= (x− x′, y + 2z) + (α (y − y′), α (y′ + 2z′))
= f(u) + α (y − y′, y′ + 2z′)
= f(u) + α f(v) ;

��
N f ��� �
� L����NL���
 ��
�L��� �� R3
�L
� R2

+

2���?�?��

-+ D
 N�
������ ��� L����NL���
� ����L
��� ��#
��� �� R2
�L
� R2

+ A��
������

��
� ��
�L���� 8

&L' f : (x, y) → (x+ 2y, 2x− y) 7

&M' g : (x, y) → (x+ 2y, 2x− y + 1) 7

&N' h : (x, y) → (x+ y, xy) 7

&�' k : (x, y) → (x+ y, x+ y2)+

.+ H��� f �%L����NL���
 �� R[X] �L
� R[X] ��#
�� �L� 6 f(P ) = P (1)+ B�
*

���� 
�� f ��� �
� L����NL���
 ��
�L���+

/1

2.12 � Comment déterminer la dimension d’un espace 
vectoriel ?
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 #
�� n ∈ N∗
)

�
 ������ �
� ML�� �� E 
�� L n ���	�
��+

;L
� N� NL� �
 
��� dim (E) = n+

�!� #�
��
���
 �
 ���� dim ({0E}) = 0+

2 < 2 6 8 5 2

-+ 5����=?� ��?������ E = R2
= ���� ��	�
���
 &#

:L� �L �L	���� ((0, 1), (1, 0)) ���	� �
� ML�� �� R2
+

.+ :��� E =
{
(x, y, z) ∈ R3, x− 2y + z = 0

}
+ 1����	�
�� �= ��	�
���


�� E+

H��� u = (x, y, z) �
 ���	�
� 
���N�

�� �� E) ��
N x = 2y−z) �
 �
 ��*

���� 
�� u = y(2, 1, 0)+ z(−1, 0, 1) �� �L� �����) ��� ��N����� u1 = (2, 1, 0)
�� u2 = (−1, 0, 1) ���	�
� �
� �L	���� ��
��L���N� �� E) �L� L�������

(u1, u2) ��� ��M��) �L� N�
��
��
� (u1, u2) ��� �
� ML�� �� E)

�%�! dim (E) = 2+

2���?�?��

-+ ;L
� R3
	�
� �� �L ����N���� NL
�
�
�� �%���LN� ��N������ ��� R) �


N�
������ �%�
��	M�� F1 ��� �������� �� �L ���	� 6 x1 = (a,−b, a+ b) �!

a �� b ��
� ��� 
�	M��� ����� 
���N�

���) �� F2 �%�
��	M�� ��� ��������

�� �L ���	� 6 x2 = (k, 2h+ k,−2h) �! h �� k ��
� ��� 
�	M��� �����


���N�

���+

&L' ;�	�
���� 
�� F1 �� F2 ��
� ��� ����*���LN�� ��N������� �� R3
��

�
��
��� �
� ML�� �� �L ��	�
���
 �� N�LN�
 �%��� 7

&M' ;����	�
�� F1

⋂
F2 �� �L ��	�
���
 m 7

&N' ;����	�
�� F1 + F2 �� �L ��	�
���
 n 7

&�' K���#�� 
�� dim (F1 + F2) + dim (F1

⋂
F2) = dim (F1) + dim (F2)+

.+ B�	�� 
������
� 
�� �%����N�N� -) L��N 6 F1 ��L
� �%�
��	M�� ��� ��������

x1 = (a− b, 2a, 3a+ 2b) �! a �� b ��
� ��� 
�	M��� ����� 
���N�

���) F2

�
��	M�� ��� �������� x2 = (h, h + k, h + 2k) �! h �� k ��
� ��� 
�	M���

����� 
���N�

���+

/0
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H���
� E) F ���� K−���LN�� ��N������� �� ���� f �
� L����NL���
 �� E �L
� F +

E��� 	�
���� 
�� f ��� ��
�!���) �
 	�
��� 
�� ��� ���������� ����L
��� ��
�

�L����L����

∀x, y ∈ E) �
 L 6 f(x+ y) = f(x) + f(y)
∀x ∈ E, ∀α ∈ K) �
 L 6 f(α x) = α f(x)

D� �
N��� 6

∀u, v ∈ E, ∀α ∈ K) �
 L 6 f(u+ α v) = f(u) + α f(v)

2 < 2 6 8 5 2

:��� f ��=����?=���
 �� R3
�=
� R2

���
�� �=�

f(x, y, z) = (x− y, y + 2z)

6�
���� 
�� f ��� �
� =����?=���
 ��
�=���#

H���
� u = (x, y, z)) v = (x′, y′, z′) ��� ���	�
�� �� R3
�� α ∈ R+

:�		� u+ α v = (x+ α x′,y + α y′, z + α z′))

�� �%�
���� 
�� 6

f(u+ α v) = ((x+ α x′)− (y + α y′), (y + α y′) + 2(z + α z′))
= ((x− x′) + α (y − y′), y + 2z + α (y′ + 2z′))
= (x− x′, y + 2z) + (α (y − y′), α (y′ + 2z′))
= f(u) + α (y − y′, y′ + 2z′)
= f(u) + α f(v) ;

��
N f ��� �
� L����NL���
 ��
�L��� �� R3
�L
� R2

+

2���?�?��

-+ D
 N�
������ ��� L����NL���
� ����L
��� ��#
��� �� R2
�L
� R2

+ A��
������

��
� ��
�L���� 8

&L' f : (x, y) → (x+ 2y, 2x− y) 7

&M' g : (x, y) → (x+ 2y, 2x− y + 1) 7

&N' h : (x, y) → (x+ y, xy) 7

&�' k : (x, y) → (x+ y, x+ y2)+

.+ H��� f �%L����NL���
 �� R[X] �L
� R[X] ��#
�� �L� 6 f(P ) = P (1)+ B�
*

���� 
�� f ��� �
� L����NL���
 ��
�L���+

/1

2.13 � Comment montrer qu’une application est 
linéaire ?
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H���
� E) F ���� K−���LN�� ��N������� �� f �
� L����NL���
 ��
�L��� �� E �L
�

F + E��� ������� �� 
��!� �� f ) �
 ������ �%�
�L���
 f(x) = 0F + 9�
�� 6

Ker f = {x ∈ E, f(x) = 0F }
D
 
��� 
�� Ker f ��� �
 ����*���LN� ��N������ �� E+

2 < 2 6 8 5 2

:��� f ��=����?=���
 �� R3
�=
� R2

���
�� �=�

f(x, y, z) = (x− y, y + 2z).

7
 �=�� 
�� f ��� �
� =����?=���
 ��
�=��� �� R3
�=
� R2

����� 	������

%' #

1����	�
�� �� 
��=� �� f #

H��� u = (x, y, z) ∈ R3
+ D
 L 6

u ∈ Ker f ⇔ f(u) = 0R2

⇔ (x− y, y + 2z) = (0, 0)

⇔
{

x− y = 0
y + 2z = 0

⇔

{
x = y

z = −1

2
y

⇔ u = y

(
1, 1,−1

2

)

�� ��
N Ker f = Vect

{(
1, 1,− 1

2

)}
+

2���?�?��

-+ B�
���� 
�� ��� L����NL���
� ����L
��� �� &R2
�L
� R2

' ��
� ��
�L���� 7

�����	�
�� ����� 
��L��+

&L' U(x, y) = (4x− 3y, 5x+ 4y) 7

&M' U(x, y) = (6x− 4y, 9x− 6y)+

.+ B�	�� 
������
� 
�� -' ���� ��� L����NL���
� �� R3
�L
� R3

��#
���

N�*������� 6

&L' U(x, y, z) = (x+ y + z, y, z) 7

&M' U(x, y, z) = (y + z, x+ y + z, x)+

/2
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H���
� E) F ���� K−���LN�� ��N������� �� f �
� L����NL���
 ��
�L��� �� E �L
�

F +

E��� 	�
���� 
�� f ��� �
��#����) �� ��$� �� 	�
���� 
�� 6 Ker f = {0E}+

<
 �L��) �
 L 6 f est injective ⇔ Ker (f) = {0E} .

2 < 2 6 8 5 2

:��� f ��=����?=���
 �� R2
�=
� R2

���
�� �=�

f(x, y) = (x− y, y + x).

7
 ������ �=?���	�
� 
�� f ��� ��
�=���#

6�
���� 
�� f ��� �
��?����#

D
 L 6

u = (x, y) ∈ Ker (f) ⇔ f(u) = 0R2

⇔ (x− y, y + x) = (0, 0)

⇔
{

x− y = 0
y + x = 0

⇔
{

x = y
x = −y

⇔ x = y = 0

��
N Ker f = {(0, 0)})

�� �L� ����� f ��� �
��N����+

2���?�?��

-+ H��� f �%L����NL���
 �� R3
�L
� R2

��#
�� �L� 6

f(x, y, z) = (x− 2y, y + x+ 2z).

B�
���� 
�� f ��� �
� L����NL���
 ��
�L��� �� R3
�L
� R2

+

f ���*���� �
��N���� 8

.+ B�	� ����N�N� ���� ��� L����NL���
� �� R3
�L
� R3

) ��#
��� N�*������� 6

&L' U(x, y, z) = (x+ y + z, y, z) 7

&M' U(x, y, z) = (y + z, x+ y + z, x)+

/3

2.14 � Comment déterminer le noyau d’une application 
linéaire ?
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� E) F ���� K−���LN�� ��N������� �� f �
� L����NL���
 ��
�L��� �� E �L
�

F + E��� ������� �� 
��!� �� f ) �
 ������ �%�
�L���
 f(x) = 0F + 9�
�� 6

Ker f = {x ∈ E, f(x) = 0F }
D
 
��� 
�� Ker f ��� �
 ����*���LN� ��N������ �� E+

2 < 2 6 8 5 2

:��� f ��=����?=���
 �� R3
�=
� R2

���
�� �=�

f(x, y, z) = (x− y, y + 2z).

7
 �=�� 
�� f ��� �
� =����?=���
 ��
�=��� �� R3
�=
� R2

����� 	������

%' #

1����	�
�� �� 
��=� �� f #

H��� u = (x, y, z) ∈ R3
+ D
 L 6

u ∈ Ker f ⇔ f(u) = 0R2

⇔ (x− y, y + 2z) = (0, 0)

⇔
{

x− y = 0
y + 2z = 0

⇔

{
x = y

z = −1

2
y

⇔ u = y

(
1, 1,−1

2

)

�� ��
N Ker f = Vect

{(
1, 1,− 1

2

)}
+

2���?�?��

-+ B�
���� 
�� ��� L����NL���
� ����L
��� �� &R2
�L
� R2

' ��
� ��
�L���� 7

�����	�
�� ����� 
��L��+

&L' U(x, y) = (4x− 3y, 5x+ 4y) 7

&M' U(x, y) = (6x− 4y, 9x− 6y)+

.+ B�	�� 
������
� 
�� -' ���� ��� L����NL���
� �� R3
�L
� R3

��#
���

N�*������� 6

&L' U(x, y, z) = (x+ y + z, y, z) 7

&M' U(x, y, z) = (y + z, x+ y + z, x)+

/2
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H���
� E) F ���� K−���LN�� ��N������� �� f �
� L����NL���
 ��
�L��� �� E �L
�

F +

E��� 	�
���� 
�� f ��� �
��#����) �� ��$� �� 	�
���� 
�� 6 Ker f = {0E}+

<
 �L��) �
 L 6 f est injective ⇔ Ker (f) = {0E} .

2 < 2 6 8 5 2

:��� f ��=����?=���
 �� R2
�=
� R2

���
�� �=�

f(x, y) = (x− y, y + x).

7
 ������ �=?���	�
� 
�� f ��� ��
�=���#

6�
���� 
�� f ��� �
��?����#

D
 L 6

u = (x, y) ∈ Ker (f) ⇔ f(u) = 0R2

⇔ (x− y, y + x) = (0, 0)

⇔
{

x− y = 0
y + x = 0

⇔
{

x = y
x = −y

⇔ x = y = 0

��
N Ker f = {(0, 0)})

�� �L� ����� f ��� �
��N����+

2���?�?��

-+ H��� f �%L����NL���
 �� R3
�L
� R2

��#
�� �L� 6

f(x, y, z) = (x− 2y, y + x+ 2z).

B�
���� 
�� f ��� �
� L����NL���
 ��
�L��� �� R3
�L
� R2

+

f ���*���� �
��N���� 8

.+ B�	� ����N�N� ���� ��� L����NL���
� �� R3
�L
� R3

) ��#
��� N�*������� 6

&L' U(x, y, z) = (x+ y + z, y, z) 7

&M' U(x, y, z) = (y + z, x+ y + z, x)+

/3

2.15 � Comment montrer l’injectivité d’une application 
linéaire ?
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H���
� E) F ���� K−���LN�� ��N������� �� f �
� L����NL���
 ��
�L��� �� E �L
�

F + E��� ������� �%�	!�� �� f ) �
 �����	�
� �%�
��	M�� �� ������ ��� �	L��� ���

���	�
�� �� E �L� f + 9�
�� Im(f) = {f(u), u ∈ E}+

�� (e1, e2, . . . , en) ��� �
� ML�� �� E) L���� Im(f) = Vect {f(e1), . . . , f(en)}+

2 < 2 6 8 5 2

:���
� E �
 R−���=?� ��?������ �� ��	�
���
 '! B = (⃗i, j⃗, k⃗) �
� >=��

�� E �� f ���
��	������	� �� E ���
� �=�

f (⃗i) = −⃗i+ k⃗, f (⃗j) = j⃗ + k⃗, f(k⃗) = i⃗+ j⃗.

1����	�
�� ���	=�� �� f #

:�		� Im(f) = Vect
{
f (⃗i), f (⃗j), f(k⃗)

}
�� f(k⃗) = f (⃗j) − f (⃗i)) �� �%�
 ���� 
��

Im(f) = Vect
{
f (⃗i), f (⃗j)

}
�� �
N��� Im(f) =

{
x(−⃗i+ k⃗) + y(⃗j + k⃗), x, y ∈ R

}
+

2���?�?��

-+ B�
���� 
�� ��� L����NL���
� ����L
��� �� R2
�L
� R2

��
� ��
�L���� 7

�����	�
�� ����� �	L���+

&L' U(x, y) = (4x− 3y, 5x+ 4y) 7

&M' U(x, y) = (6x− 4y, 9x− 6y)+

.+ B�	� ����N�N� ���� ��� L����NL���
� �� R3
�L
� R3

��#
��� N�*������� 6

&L' U(x, y, z) = (x+ y + z, y, z) 7

&M' U(x, y, z) = (y + z, x+ y + z, x)+

/+ H��� f �%L����NL���
 �� R[X] �L
� R[X] ��#
�� �L� 6

f(P ) = X2P ′ −XP.

D
 �L�� 
�� f ��� �
� L����NL���
 ��
�L���+ ;����	�
�� ��
 �	L��+

0+ H��� f �%L����NL���
 �� R3[X] �L
� R3[X] ��#
�� �L� 6

f(P ) = P + (1−X)P ′.

B�
���� 
�� f ��� �
� L����NL���
 ��
�L��� �� �����	�
�� ��
 �	L��+

/4
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H���
� E) F ���� K−���LN�� ��N������� �� f �
� L����NL���
 ��
�L��� �� E �L
�

F + E��� ������� �� �!
� ��f ) �
 �����	�
� �%�	L�� �� f ) ���� �
 NL�N��� �L

��	�
���
+ D
 L 6 rg(f) = dim(Imf)+

H� E ��� �� ��	�
���
 �
��) �
 L �� ������	� �� �L
� 6

dim(E) = rg(f) + dim(Ker (f)).

2 < 2 6 8 5 2

:��� f : R2 → R2
��=����?=���
 ���
�� �=�

f(x, y) = (4x− 2y, 6x− 3y).

7
 ������ �=?���	�
� 
�� f ��� ��
�=���#

;�����
� �� �=
� �� f #

Im(f) = {f(x, y), x, y ∈ R}
= {(4x− 2y, 6x− 3y), x, y ∈ R}
= {(2x− y)(2, 3), x, y ∈ R}
= {α (2, 3), α ∈ R}
= Vect {(2, 3)}

A� ��N���� (2, 3) ��� �
� ML�� �� Im(f))

�� �L� ����� rg(f) = 1+

2���?�?��

-+ H��� f �%L����NL���
 �� �%���LN� ��N������ R3
�L
� R3


�� L���N�� L� ��N����

(x, y, z) �� ��N���� (y + z, x+ z, x+ y)+ ;����	�
�� �� �L
� �� f +

.+ H��� E �
 ���LN� ��N������ �� ��	�
���
 / ��
� (
−→
i ,

−→
j ,

−→
k ) ��� �
� ML��+

D
 N�
������ �%�
��	������	� f �� E ��#
� �L� 6

f(
−→
i ) = −−→

i + 2
−→
k , f(

−→
j ) =

−→
j + 2

−→
k , f(

−→
k ) = 2

−→
i + 2

−→
j .

;����	�
�� �� �L
� �� f +

/+ H��� E3 �� R−���LN� ��N������ ��� ����
 	�� �� ����� �
������� �� ��L� �

/) �� ���� f �%L����NL���
 ��#
�� ��� E3 �L� 6

f(P ) = X2P”− 4XP ′ + 6P.

&L' B�
���� 
�� f ��� �
 �
��	������	� �� E 7

&M' ;����	�
�� �� �L
� �� f +

/5

2.16 � Comment déterminer l’image d’une application 
linéaire ?
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H���
� E) F ���� K−���LN�� ��N������� �� f �
� L����NL���
 ��
�L��� �� E �L
�

F + E��� ������� �%�	!�� �� f ) �
 �����	�
� �%�
��	M�� �� ������ ��� �	L��� ���

���	�
�� �� E �L� f + 9�
�� Im(f) = {f(u), u ∈ E}+

�� (e1, e2, . . . , en) ��� �
� ML�� �� E) L���� Im(f) = Vect {f(e1), . . . , f(en)}+

2 < 2 6 8 5 2

:���
� E �
 R−���=?� ��?������ �� ��	�
���
 '! B = (⃗i, j⃗, k⃗) �
� >=��

�� E �� f ���
��	������	� �� E ���
� �=�

f (⃗i) = −⃗i+ k⃗, f (⃗j) = j⃗ + k⃗, f(k⃗) = i⃗+ j⃗.

1����	�
�� ���	=�� �� f #

:�		� Im(f) = Vect
{
f (⃗i), f (⃗j), f(k⃗)

}
�� f(k⃗) = f (⃗j) − f (⃗i)) �� �%�
 ���� 
��

Im(f) = Vect
{
f (⃗i), f (⃗j)

}
�� �
N��� Im(f) =

{
x(−⃗i+ k⃗) + y(⃗j + k⃗), x, y ∈ R

}
+

2���?�?��

-+ B�
���� 
�� ��� L����NL���
� ����L
��� �� R2
�L
� R2

��
� ��
�L���� 7

�����	�
�� ����� �	L���+

&L' U(x, y) = (4x− 3y, 5x+ 4y) 7

&M' U(x, y) = (6x− 4y, 9x− 6y)+

.+ B�	� ����N�N� ���� ��� L����NL���
� �� R3
�L
� R3

��#
��� N�*������� 6

&L' U(x, y, z) = (x+ y + z, y, z) 7

&M' U(x, y, z) = (y + z, x+ y + z, x)+

/+ H��� f �%L����NL���
 �� R[X] �L
� R[X] ��#
�� �L� 6

f(P ) = X2P ′ −XP.

D
 �L�� 
�� f ��� �
� L����NL���
 ��
�L���+ ;����	�
�� ��
 �	L��+

0+ H��� f �%L����NL���
 �� R3[X] �L
� R3[X] ��#
�� �L� 6

f(P ) = P + (1−X)P ′.

B�
���� 
�� f ��� �
� L����NL���
 ��
�L��� �� �����	�
�� ��
 �	L��+
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H���
� E) F ���� K−���LN�� ��N������� �� f �
� L����NL���
 ��
�L��� �� E �L
�

F + E��� ������� �� �!
� ��f ) �
 �����	�
� �%�	L�� �� f ) ���� �
 NL�N��� �L

��	�
���
+ D
 L 6 rg(f) = dim(Imf)+

H� E ��� �� ��	�
���
 �
��) �
 L �� ������	� �� �L
� 6

dim(E) = rg(f) + dim(Ker (f)).

2 < 2 6 8 5 2

:��� f : R2 → R2
��=����?=���
 ���
�� �=�

f(x, y) = (4x− 2y, 6x− 3y).

7
 ������ �=?���	�
� 
�� f ��� ��
�=���#

;�����
� �� �=
� �� f #

Im(f) = {f(x, y), x, y ∈ R}
= {(4x− 2y, 6x− 3y), x, y ∈ R}
= {(2x− y)(2, 3), x, y ∈ R}
= {α (2, 3), α ∈ R}
= Vect {(2, 3)}

A� ��N���� (2, 3) ��� �
� ML�� �� Im(f))

�� �L� ����� rg(f) = 1+

2���?�?��

-+ H��� f �%L����NL���
 �� �%���LN� ��N������ R3
�L
� R3


�� L���N�� L� ��N����

(x, y, z) �� ��N���� (y + z, x+ z, x+ y)+ ;����	�
�� �� �L
� �� f +

.+ H��� E �
 ���LN� ��N������ �� ��	�
���
 / ��
� (
−→
i ,

−→
j ,

−→
k ) ��� �
� ML��+

D
 N�
������ �%�
��	������	� f �� E ��#
� �L� 6

f(
−→
i ) = −−→

i + 2
−→
k , f(

−→
j ) =

−→
j + 2

−→
k , f(

−→
k ) = 2

−→
i + 2

−→
j .

;����	�
�� �� �L
� �� f +

/+ H��� E3 �� R−���LN� ��N������ ��� ����
 	�� �� ����� �
������� �� ��L� �

/) �� ���� f �%L����NL���
 ��#
�� ��� E3 �L� 6

f(P ) = X2P”− 4XP ′ + 6P.

&L' B�
���� 
�� f ��� �
 �
��	������	� �� E 7

&M' ;����	�
�� �� �L
� �� f +
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2.17 � Comment déterminer le rang d’une application 
linéaire ?
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H���
� E �� F ���� K−���LN�� ��N������� �� ���� f �
� L����NL���
 ��
�L��� ��

E �L
� F +

E��� 	�
���� 
�� f ��� �
 ���	������	�) �
 	�
��� 
�� f ��� M���N����+

 
 �
��	������	� �� E ��� �
� !����#!���
 ��
�!��� �� E �!
� E�

J
 L���	������	� �� E ��� �
� ���	������	� �� E �L
� E+

2 < 2 6 8 5 2

:��� f ��=����?=���
 �� R2
�=
� R2

���
�� �=� 6 f(x, y) = (x− y, y + x)

6�
���
� 
�� f ��� �
 =���	������	�#

f ��� �
� L����NL���
 ��
�L��� �
��N���� &���� #N�� -1') f ��� �����N����+ <
 �"��)

���� (x′, y′) ∈ R2
) �
 N���N�� (x, y) ∈ R2

��� 
�� f(x, y) = (x′, y′)+ D
 L 6

f(x, y) = (x′, y′) ⇔ (x− y, y + x) = (x′, y′)

⇔


x− y = x′

y + x = y′

⇔


2x = x′ + y′

2y = y′ − x′

⇔




x =
x′ + y′

2

y =
y′ − x′

2

?� ������ ��
N M��
 (x, y) ∈ R2
��� 
�� f(x, y) = (x′, y′)) �%�! f��� �����N����+

f ��� �
� L����NL���
 ��
�L��� � �L ���� �
��N���� �� �����N����) ��
N f ��� �


L���	������	� �� R2
+

2���?�?��

-+ B�
���� 
�� ��� L����NL���
� �� R2
�L
� R2

��#
��� N�*������� ��
� ���

L���	������	�� �� R2
+

&L' U(x, y) = (x+ y, x) 7

&M' U(x, y) = (5x− 4y, 6x+ 5y)+

.+ H���
� E,F ���� K−���LN�� ��N������� �� f �
� L����NL���
 ��
�L��� �� E
�L
� F + B�
���� 
�� �%L����NL���
 φ �� E × F �L
� E × F ��#
�� �L� 6

φ(x, y) = (x, y + f(x)) ��� �
 L���	������	� �� E × F +

0,

%"$, /�		�
� 	�
���� 
���
� 9����;9���
 ��
�9���

��� �
 �����;���� -

H��� f �
 �
��	������	� �%�
 K−���LN� ��N������ E+ E��� 	�
���� 
�� f ���

�
 �����#����) �
 	�
��� 
�� 6

• H��� f ◦ f = f

• H��� Im(f) �� Ker (f) ��
� ������	�
�L���� �� 
�� 6

∀x ∈ Im(f), f(x) = x.

D
 ���L 
�� f ��� �L �����N���
 ��� Im(f) �L�L�����	�
� � Ker f +

2 < 2 6 8 5 2

:��� f : R2 → R2
��=����?=���
 ���
�� �=� 6

f(x, y) = (4x− 2y, 6x− 3y).

7
 ������ 
�� f ��� �
� =����?=���
 ��
�=���#

6�
���
� 
�� f ��� �
 �����?����#

H��� u = (x, y) ∈ R2
) �
 L 6

(f ◦ f)(u) = (f ◦ f)(u)
= f(4x− 2y, 6x− 3y)
= (4(4x− 2y)− 2(6x− 3y), 6(4x− 2y)− 3(6x− 3y))
= (16x− 12x− 8y + 6y, 24x− 18x− 12y + 9y)
= (4x− 2y, 6x− 3y)
= f(u)

��
N f ◦ f = f �� �L� ����� f ��� �
 �����N����+

2���?�?��

-+ A� ��L
 ��N������ V2 ��L
� �L������ � �
� ML�� (⃗i, j⃗)) �
 N�
������ �%L����NL���


��
�L��� f �� V2 �L
� V2 ��#
�� �L� 6

f (⃗i) =
1

2
i⃗− 1

4
j⃗, f (⃗j) = −⃗i+

1

2
j⃗.

&L' ;�	�
���� 
�� f ��� �
 �����N���� 7

&M' ;����	�
�� �%�	L�� �� �� 
��L� �� f 7

&N' K���#�� 
�� Imf �� Ker f ��
� ������	�
�L���� �L
� V2 �� 
�� 6

∀x ∈ Im(f), f(x) = x+

(' E��� ��� ����N�N�� N�	���	�
�L����) �� �������� �L�� 6 -00+

0-

2.18 � Comment montrer qu’une application linéaire 
est un endomorphisme, isomorphisme, 
automorphisme ?
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H���
� E �� F ���� K−���LN�� ��N������� �� ���� f �
� L����NL���
 ��
�L��� ��

E �L
� F +

E��� 	�
���� 
�� f ��� �
 ���	������	�) �
 	�
��� 
�� f ��� M���N����+

 
 �
��	������	� �� E ��� �
� !����#!���
 ��
�!��� �� E �!
� E�

J
 L���	������	� �� E ��� �
� ���	������	� �� E �L
� E+

2 < 2 6 8 5 2

:��� f ��=����?=���
 �� R2
�=
� R2

���
�� �=� 6 f(x, y) = (x− y, y + x)

6�
���
� 
�� f ��� �
 =���	������	�#

f ��� �
� L����NL���
 ��
�L��� �
��N���� &���� #N�� -1') f ��� �����N����+ <
 �"��)

���� (x′, y′) ∈ R2
) �
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2.19 � Comment montrer qu’une application linéaire 
est un projecteur ?
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2.20 � Comment montrer qu’une application linéaire 
est une symétrie ?
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